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Comprehension:
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A 7500 | 8000 | 9000 | 9500 0.8
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C 6000 | 7500 | 8500 | 10000 0.6
D 5000 | 6000 | 6600 | 7400 0.75
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Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827032997
878270129841
878270129842
878270129843
878270129844
Answered
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Comprehension:
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— st shEl st HEm = 2020 W YT =T AAEET
2017 | 2018 | 2009 | 2020 (il #)
7500 | 8000 | 9000 | 9500 0.8
B 1200 | 1350 | 1400 | 1500 0.2
C 6000 | 7500 | 8500 | 10000 0.6
D 5000 | 6000 | 6600 | 7400 0.75
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SubQuestion No : 2
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16%
14%
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827033000
878270129853
878270129854
878270129855
878270129856
Answered

3
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Comprehension:

— st shEl st HEm = 2020 W YT =T AAEET
2017 | 2018 | 2009 | 2020 (il #)
7500 | 8000 | 9000 | 9500 0.8
B 1200 | 1350 | 1400 | 1500 0.2
C 6000 | 7500 | 8500 | 10000 0.6
D 5000 | 6000 | 6600 | 7400 0.75

SubQuestion No : 3
Q.3

(1 D
2 C
(3) B
(4) A
Options 1. 1
2.2
3.3
4.4
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ad 2020 H frfafaa e # yfa =afeq dsftea &R & sfteran e of

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827032998
878270129845
878270129846
878270129847
878270129848
Answered

2
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Comprehension:

fAAferiEs e § =79 2017 § 2020 7% =R 99 F SFE 9 9=E (A, B, C @i D) ¥ deiEa w6 @
T H et g -an aitms T E | e w5 7 2020 F A vl w5 e # e Ty
T &) Ao # feu iR & snuw A= few o v F e

. Wi Rl it HEm af 2020 H yeAT T wEEET
2017 | 2018 | 2019 | 2020 ( foferam i)
7500 | 8000 | sooo | 9500 0.8
B 1200 | 1330 | 1400 | 1500 0.2
C 6000 | 7500 | 8500 | 10000 0.6
D 5000 | 6000 | 6600 | 7400 0.75

(1) ~11225

(2) - 10815

(3) ~ 10415

(4) -~ 10283
Options 1. 1
2.2
3.3
4.4

SubQuestion No : 4

Q4 g ar i et (o 2017-2020 % S s et ) o I # o A W (%) F s
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827033001
878270129857
878270129858
878270129859
878270129860
Answered

3
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Comprehension:

fAAferiEs e § =79 2017 § 2020 7% =R 99 F SFE 9 9=E (A, B, C @i D) ¥ deiEa w6 @
e | wa e wH-an as e E | sl e #2020 F o el w5 e ¥ ot
T &) Ao # feu iR & snuw A= few o v F e

. Uit Rl W ad 2020 # vl Wt SEEET
2017 | 2018 | 2019 | 2020 ( foferam i)
7500 | 8000 | sooo | 9500 0.8
B 1200 | 1330 | 1400 | 1500 0.2
C 6000 | 7500 | 8500 | 10000 0.6
D 5000 | 6000 | 6600 | 7400 0.75

SubQuestion No : 5
Q5 ofy et ot T S o 2017 % Arte 5 2020 ¥ Tk HR F FoI T FF ST © 2

Chosen Option :

(1) 284 :197
(2) 149 :154
(3) 142:79
(4) 53:41
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827032999
Option 1 ID : 878270129849
Option 2 ID : 878270129850
Option 3 ID : 878270129851
Option 4 ID : 878270129852
Status : Answered
Chosen Option : 1
Q6 vy 2y el % e B et st gy o1 w504 %1 99 Fason B w9 feeel s feens s fon s
R e s T O
(1) 12 @i
(2) 15 @
(3) 21 ¥
(4) 36 @i
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033018
Option 1 ID : 878270129925
Option 2 ID : 878270129926
Option 3 ID : 878270129927
Option 4 ID : 878270129928
Status : Answered

1
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Q.7 1 order to know if the argument is deductive or inductive, out of the four given tests which one
applies to the following example ?
“Alan is a father. Therefore, Alan is a male”.
(1) The Indicator word test
(2)  The Shrict necessity test
(3) The Common pattern lest
(#)  The Principle of charity test
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033023
Option 1 ID : 878270129945
Option 2 ID : 878270129946
Option 3 ID : 878270129947
Option 4 ID : 878270129948
Status : Answered
Chosen Option : 3
Q.8 y ; 2
Which of the following computer memory types are volatile ?
(A) CMOS memory
(B) Cache memory
(C) Flash memory
(D) Hard disk
(E) RAM
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only
(2 (A), (©) and (D) Only
(3) (B), (©) and (E) Only
(4) (B) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033030
Option 1 ID : 878270129973
Option 2 ID : 878270129974
Option 3 ID : 878270129975
Option 4 ID : 878270129976
Status : Answered
Chosen Option : 2
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S R sfrer B whid S yyeres fag (7) # ufrenfa w2 2
1,3,6.10,.15.21, 2 36, ...
(1) 32
() 28
(3) 29
(4) 30
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033017
Option 1 ID : 878270129921
Option 2 ID : 878270129922
Option 3 ID : 878270129923
Option 4 ID : 878270129924
Status : Answered
Chosen Option : 2
Q.10 i e e e |, RAM 1 32 F %9 H Ffeq fan man & 9 SITA’ =1 49 F w7 1 iz frm
B 38 9 W SHYAM' w1 % sHfed feen o ?
{1y 73
(2) 49
(3) 66
(4 32
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033021
Option 1 ID : 878270129937
Option 2 ID : 878270129938
Option 3 ID : 878270129939
Option 4 ID : 878270129940
Status : Answered
Chosen Option : 3
QM1 Which of the following is an example of collaborative learning ?
(1) A teacher assigns individually a reading assignment and students take noles
(2) A teacher gives lecture on a topic and students take notes individually
(3) A teacher assigns homewuork for students to complele independently
(4) A teacher assigns a group project and students work together to do research and present
their findings
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033005
Option 1 ID : 878270129873
Option 2 ID : 878270129874
Option 3 ID : 878270129875
Option 4 ID : 878270129876
Status : Answered
Chosen Option : 4
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Q12 In a negatively skewed distribution, which among the following would be true ?

(A) Mean > Mode

(B) Mean < Median

(C) Median < Mode

(D) Mode > Mean

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3 (B) and (D) Only

(4) (A)and (C) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033010
Option 1 ID : 878270129893
Option 2 ID : 878270129894
Option 3 ID : 878270129895
Option 4 ID : 878270129896
Status : Answered
Chosen Option : 1
Q.13 Which of the following are not the characteristics of conventional learning ?
(A) Emphasis on self directed learning and independent study
(B) Students learn through listening and observation
(C) No fixed curriculum
(D) Leamer oriented
(E) Require regular attendance
Choose the correct answer from the options given below :
(I)  (B) and (E) Only
(2) (A) and (E) Only
(3)  (A), (©) and (D) Only
(4) (B) and (C) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033037
Option 1 1D : 878270130001
Option 2 ID : 878270130002
Option 3 ID : 878270130003
Option 4 ID : 878270130004
Status : Answered
Chosen Option : 3
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Q.14 Given below are two statements :
Statement (1) : (1011101), = (5D),,

Statement (II) : (C2),, = (11000010),
In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033029
Option 1 ID : 878270129969
Option 2 ID : 878270129970
Option 3 ID : 878270129971
Option 4 ID : 878270129972
Status : Answered
Chosen Option : 1

QA5 pfaich List - I with List - 1L

List -1 List - II
(Online Learning Platforms) (Respective Features)
(A) Swayam (I) Paid courses on creative and entrepreneurial topics
(B) Udemy (I}  Free courses from Indian universities
(C) Skillshare (I) Video lectures and interactive exercises for k - 12
students
(D) Khan Academy (IV) Paid courses on various topics

Choose the correct answer from the options given below :
(0 (A)-(D, (B)-(I), (O, (D)-(IV)
@ (-, B)-1V), (©-(0), (D)-{1D)
(3)  (A)-(TV), (B)-(TIT), (C)<(IT), (D)-(T)
@ (A)-(T), (B)(D), (C)-(IV), (D)-(IT)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033004
Option 1 ID : 878270129869
Option 2 ID : 878270129870
Option 3 ID : 878270129871
Option 4 ID : 878270129872
Status : Answered
Chosen Option : 4

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/170254983780042...  9/82
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Q16 yyhen the researcher’s age affects the behaviour of the participant in a study, it refers to :

(1) Sociological effect
(2) Biosocial effect
(3) Psychological effect
(4)  Psychosocial effect
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033009
Option 1 ID : 878270129889
Option 2 ID : 878270129890
Option 3 ID : 878270129891
Option 4 ID : 878270129892
Status : Answered
Chosen Option : 3
Q.17 In the context of communication, political socialisation is linked to social learning in terms of
how ?
(A) Power is attained.
(B) Certain sections of society should be left out of the mainstream.
(C) Social systems are ignored.
(D) Power is used and misused.
(E) Political and economic decisions are made.
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B}, (C) and (D) Only
(3) (A}, (D) and (E) Only
(4)  (B), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033015
Option 1 ID : 878270129913
Option 2 ID : 878270129914
Option 3 ID : 878270129915
Option 4 ID : 878270129916
Status : Answered
Chosen Option : 1
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Q18 A yecearcher obtains the following p values for sample correlation coefficients of different samples.
Which of these can be considered significant at 5 % level of significance ?
(A} 05
(B) 0.04
(C) 0.95
(D) 0.002
(E) 0.995
Choose the correct answer from the options given below :
(1) (A} and (E) Only
(2) (B) and (D) Only
(3) (C) and (E) Only
@) (A), (©) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033011
Option 1 ID : 878270129897
Option 2 ID : 878270129898
Option 3 ID : 878270129899
Option 4 ID : 878270129900
Status : Answered
Chosen Option : 4
Q.19 3 - N
Match List - I with List - IL
List - I List - 11
(Storage Media) (Type of storage)
(A) Hard Disk Drive (HDD) () Optical
(B) USB Flash Memory (I)y Magnetic
(€©) Blu ray Disc (III) Solid state
Cheose the correct answer from the options given below :
(1) (A)-(1D, (B)-(L), (C)-(I)
(2) (A1), (B)-(1), (O)-(LI)
(3)  (A)-(1IL), (B)-(1L), (C)~(T)
(4)  (A)-(D), (B)-(IL), (C)-(IK)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033031
Option 1 ID : 878270129977
Option 2 ID : 878270129978
Option 3 ID : 878270129979
Option 4 ID : 878270129980
Status : Answered
Chosen Option : 1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025498378004...  11/82
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Q20 yypich amonyg the following is not a value as propounded by the Indian traditional concept of
Purushartha :
{1} Dharma
(2} Artha
3)  Bhakt
(4} Moksha
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033040
Option 1 ID : 878270130013
Option 2 ID : 878270130014
Option 3 ID : 878270130015
Option 4 ID : 878270130016
Status : Answered
Chosen Option : 2
Q.21 Identify the correct sequence of steps involved in conducling a literature review for a research
study :
(A) Locate literature
(B) Organize the literature
(C) ldentify key terms for search
(D)  Write a literature review
(E)  Critically evaluate and select the literature relevant to research
Choose the correct answer from the options given below :
M (A (B). Q) (E), (D)
@ (A, (©), (B (B). (D)
(3 (©), (A) (E) (B). (D)
@ (©. (B) (A, (B), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033007
Option 1 ID : 878270129881
Option 2 ID : 878270129882
Option 3 ID : 878270129883
Option 4 ID : 878270129884
Status : Answered
Chosen Option : 1
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Q22
(A)
(B)
(€
(D)

1

2

)

(4)

Options 1. 1
2.2

3.3

4.4

The predicate term of the conclusion is the major term.
The subject term of the conclusion is the minor term.
The middle term must occur only once in the premise.

In the light of syllogistic argument which of the following is/are incorrect ?

The middle term must be distributed at least once in the conclusion.

Choose the correct answer from the options given below :

(B) Only
(B) and (D) Only
(C) Only
(C) and (D) Only

Question Type :
: 87827033026
Option 11D :

Question ID

Option 2 ID

Option 4 ID

MmcQ

878270129957

: 878270129958
Option 31D :

878270129959

: 878270129960
Status :
Chosen Option :

Answered
1

Q.23

(1)
(2)
(3)
(4)
Options 1. 1

3.3
4.4

Folk performances
Satellite communication
Internet

Audio recordings

The term ‘analog media’ was originally derived from :

Question Type :
: 87827033012
Option 11D :

Question ID

Option 2 ID

Option 4 ID

MmcaQ

878270129901

: 878270129902
Option 31D :

878270129903

: 878270129904
Status :
Chosen Option :

Answered
2
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@

Q.24 Given below are two statements :
Statement (1) :
Statement (II) : Each media grammar has evolved over a period of time and continues to change.

Both Statement I and Statement I1 are correct
Both Statement I and Statement II are incorrect

Not every medium has its own grammar.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033016
Option 1 ID : 878270129917
Option 2 ID : 878270129918
Option 3 ID : 878270129919
Option 4 ID : 878270129920
Status : Answered
Chosen Option : 4
Q25 3 fiy A i B, 140 FEE. % stave v ¥ A ST o v H v gE A SR e fre
o Py & | T2 A, 80 T ufe =fer sl B, 40 TR0, i =iz =67 = | e = § 9 =9 foen 9 3
45 Tz wewl T foh. . 3 st W i 2
(1) 7o fEHE.
(2) 90
(3) 100 T
(9 8o fEL
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033020
Option 1 ID : 878270129933
Option 2 ID : 878270129934
Option 3 ID : 878270129935
Option 4 ID : 878270129936
Status : Answered
Chosen Option : 1
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Q26 Which of the following are the orders of signification in communication ?
(A) Denotation
(B) Connotation
(C) Myth
(D) Credibility
(E) Attribution
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2)  (B), (©) and (D) Only
(3) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033014
Option 1 ID : 878270129909
Option 2 ID : 878270129910
Option 3 ID : 878270129911
Option 4 ID : 878270129912
Status : Answered
Chosen Option : 1
Q.27 Which of the following is a potential drawback of teacher centered instruction ?
(1) It can be more engaging and interactive for students.
(2) [t can limit opportunities for students’ creavity and critical thinking.
(3) It promotes students’ independence and self-direction.
(4) It is more efficient and saves time.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033006
Option 1 ID : 878270129877
Option 2 ID : 878270129878
Option 3 ID : 878270129879
Option 4 ID : 878270129880
Status : Answered
Chosen Option : 3
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Chosen Option :

Q28 yop ayerery ot 10% e = 9 4 T T A i A A S T 5431 ¥ | A I
T |
(1) ¥ 54310
() T 108620
(3) T 453100
(4 T 543100
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033019
Option 1 ID : 878270129929
Option 2 ID : 878270129930
Option 3 ID : 878270129931
Option 4 ID : 878270129932
Status : Answered
Chosen Option : 3
Q.29 ) 3 3
Pick a correct observation from the following argument :
“All dogs are cats
All cats are whales
Therefore, all whales are dogs”
(1) It is valid argument and contains true premise and true conclusion
(2) It is invalid argument and contains false premise and true conclusion
(3) It is invalid argument and contains false premise and false conclusion
(4) It is invalid argument and contains true premise and false conclusion
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033024
Option 1 ID : 878270129949
Option 2 ID : 878270129950
Option 3 ID : 878270129951
Option 4 ID : 878270129952
Status : Answered

1
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Q.30 s
S fafavar das sifirgm (o = <) e SR exaer & o e mar o 2
(1) g Fort e
(2) wHifZaA AR
(3) R GRERE
(4) wiwem sifummy
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033036
Option 1 ID : 878270129997
Option 2 ID : 878270129998
Option 3 ID : 878270129999
Option 4 ID : 878270130000
Status : Answered
Chosen Option : 2
Q.31 =1 21 e faw ma ¥ v AR (Assertion A) % w9 H fofad g SR FHF HEOT (Reason R) F
TIH T
afirmes (A) :  Towa o o1en Torfam 3o o waatemer o WEueh! o SR F 37T WEH srefare i g
#l
FHITT (R) : T TR T IR Tt W, e, T, e, FEE el S S 6 e
I T =T B
T FHF F AT H, A G0 T fesredl § H we ITEe 36 99 i
(1) (A) ¥ (R) ST 961 & 230 (R), (A) 1 5l =200 §
(2)  (A) 3T (R) S 5ET &, w6 (R), (A) #1856 =0T T4 &
(3)  (A) = @i (R) 9al 96 #
(4 (A) T T EafE (R)TEE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033032
Option 1 ID : 878270129981
Option 2 ID : 878270129982
Option 3 ID : 878270129983
Option 4 ID : 878270129984
Status : Answered
Chosen Option : 1
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Q32 ¢ e i (T £ ), 2020 F A FAA D wom ey R

A (I) : 8 o9 %1 8 & ToF well == Tinen el = Seavg oo O =ty o A e = S s
iR g IR HEe (57 o S @

A (1) : HEnT s A & gl Seien e dee F e #iae

[N FUH F ek H, A 5 1 fered] § ¥ wel Iuge 6T 1 w0 S
(1) I | S 115 g6

(2) YT 1 5T A 1S e ®

(3) R IWE E A wmEF U A T

(4) HUT1TER ¥, W e 1L TE

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033039
Option 1 ID : 878270130009
Option 2 ID : 878270130010
Option 3 ID : 878270130011
Option 4 ID : 878270130012
Status : Answered
Chosen Option : 1
Q.33 ; ) . ; ;
The automation element of online media has enabled the generation of :
(1) Limited quantity of quality information
(2) User specific information
(3) Complex philosophical information
(4) Non-specific general information
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033013
Option 1 ID : 878270129905
Option 2 ID : 878270129906
Option 3 ID : 878270129907
Option 4 ID : 878270129908
Status : Answered
Chosen Option : 2
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Q.34 Given below are two statements :
Statement (1) :  Arguments from analogy are generally deductive, weak or strong
Statement (II) : Arguments from analogy are generally inductive and neither valid nor invalid.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033025
Option 11D : 878270129953
Option 2 ID : 878270129954
Option 3 ID : 878270129955
Option 4 ID : 878270129956
Status : Answered
Chosen Option : 3
Q35 e systematic elimination of extraneous variables, other than those you are interested in, can be
done in which of the following types of research ?
(1)  Qualitative research
(2) Longitudinal research
3) Experimental research
(4) Correlational research
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033008
Option 1 ID : 878270129885
Option 2 ID : 878270129886
Option 3 ID : 878270129887
Option 4 ID : 878270129888
Status : Answered
Chosen Option : 3
Q.36 yhich commission/committee recommended that ‘the ordinary amenities and decencies of life
should be provided for women in colleges ordinarily planned for men and that there should be no
curtailment of opportunities for women' ?
(I) Durgabai Deshmukh Committee (1959)
(2) Kothari Commission (1964 - 66)
(3) Bhaktavatsalam committee (1963)
(4) Radhakrishnan Commission (1945)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033041
Option 1 ID : 878270130017
Option 2 ID : 878270130018
Option 3 ID : 878270130019
Option 4 ID : 878270130020
Status : Answered
Chosen Option : 3
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Q.37
Analogy roughly corresponds to :
(1) Anumiti
(2) Upamit
(3) Agama
(4) Pratyaksha
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033022
Option 1 1D : 878270129941
Option 2 ID : 878270129942
Option 3 ID : 878270129943
Option 4 ID : 878270129944
Status : Answered
Chosen Option : 3
Q38 5y 2 o g ¥ -
WA AT T U T w1 e E we € S wife S S e e
HYA I TO9A T g9 F e s # i we o femmn A e e T e €
I U e §, A far T faed § § wer Iugea 36T o we Fiie
(1) HIT1 30 FHEA S a8
() e 1 & e 11 i e &
(3) wUTLTE §, A wmew e §
(4) U 1R 2, FET A 1T Y
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033034
Option 1 ID : 878270129989
Option 2 ID : 878270129990
Option 3 ID : 878270129991
Option 4 ID : 878270129992
Status : Answered
Chosen Option : 2
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Q-39 =1 21 e faw ma ¥ v AR (Assertion A) % w9 H fofad g SR FHF HEOT (Reason R) F
FTIHEI
afirRerT (A) : WA il = Fereedl TearTE wm § e fawfen B w9 % wrw a1 §)
THAUT (R) : WaranTd H Her ferafsia v 8 HerErTiE St # e w6 d §w @
[N FUH F ek H, A 50 g fasmed § § wed Iren 3w 99 it
(1) (A) # (R) <0 9€ & 30 (R), (A) 1 5 =amEn &
(2) (A) = (R) & AE €, T (R), (A) FT T = Tl
(3) (A) = T S (R) TR E ®
(4) (A) TE € AR (R) TH E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033035
Option 1 ID : 878270129993
Option 2 ID : 878270129994
Option 3 ID : 878270129995
Option 4 ID : 878270129996
Status : Answered
Chosen Option : 1
Q.40 :
frfefaa favafammeral = 3T T & FHIEHATEE T |
(A) ==Y feg favafamren
(B) SEEaE e favafaaery
(C) coemER favefammTy
(D) oot favafammem
e feu o fosmedi # ¥ W8 IH 1 99A HIfAC
(1) (©), (A), (D) (B)
2 (A) Q). (D) (B)
(3) (A), (D), (©) (B)
(4) (A), (©), (B), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033038
Option 1 ID : 878270130005
Option 2 ID : 878270130006
Option 3 ID : 878270130007
Option 4 ID : 878270130008
Status : Answered
Chosen Option : 4
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Q.41 e 7 #T97 FE T U MP3 Wi SEfE ® 1 MP e § R WR W =6 @ siERe e s
(1y Hif==r
(2) =&
(3 BFE (=)
() w2 (TR)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033027
Option 1 ID : 878270129961
Option 2 ID : 878270129962
Option 3 ID : 878270129963
Option 4 ID : 878270129964
Status : Answered
Chosen Option : 2
Q42 gagch List - ¥ with List - IL.
List - 1 List - II
(Online Teaching Tools) (Advantages for Students)
{A) Learning Management System (LMS) (I)  Collaborating with peers, sharing ideas and
perspectives
(B) Video Conferencing (I Receiving instant feedback on quizzes and
assessments, tracking progress and
performance
(C) Discussion Forums (L) Accessing course materials and assignments
any time, any where
(D) Online Assessmenlt Platforms (TV) Participating in live online class sessions and
discussions from remote locations also
Choose the correct answer [raom the oplions given below :
M (A, (B)-0V), (O)-(1D, (D)-()
2 (AHIV), (B)(II), (C)-(T) D)1
@) (AT, B-IV), (OHD), (DHI)
@ -0, (BRI, (C-), (D)-{IV)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033002
Option 11D : 878270129861
Option 2 ID : 878270129862
Option 3 ID : 878270129863
Option 4 ID : 878270129864
Status : Answered
Chosen Option : 4
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Q43 \hich of the following are not the examples of a positive teacher - student relationship ?
(A) A teacher who punishes students for asking questons,
(B) A teacher who provides students with positive feedback and constructive criticism.
{C) A teacher who fosters open communication and mutual respect.
(D) A teacher who humiliates his/her students.
(E) A teacher who ignores the needs and concerns of his/her students.
Choose the correct answer from the options given below :
(1) () and (C) Only
(2)  (A), (D) and (E) Only
@) (A), (B), (C) and (D) Only
(4) (B and (F) Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033003
Option 1 ID : 878270129865
Option 2 ID : 878270129866
Option 3 ID : 878270129867
Option 4 ID : 878270129868
Status : Answered
Chosen Option : 2
Q.44 Identify the correct sequence of the following technelogies A-D used in first generation to fourth
generation of compulers.
(A) Integrated circuits
(B) Microprocessors
(C) Transistors
(1Y Vacuum Tubes
Choose the correct answer from the options given below :
(L) (D) () (B) (&)
(2) (D) (C) (A) (B)
3 () (D), (A) (B)
@) (B) (A (C), (DY
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033028
Option 1 ID : 878270129965
Option 2 ID : 878270129966
Option 3 ID : 878270129967
Option 4 ID : 878270129968
Status : Answered
Chosen Option : 2
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Q45 59 o TaEAl foEE I I ] WAl Fe g T W A T w7 e ad g g i =
et S THAH FAT F Aed i e
(1) 2024
(2) 2025
(3) 2027
(4) 2030
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
87827033033
878270129985
878270129986
878270129987
878270129988
Answered

3
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Comprehension:

Frretfefie meror =1 wfew 2f swe e fan o vt & v e

rrETd SteiTER e i e e e S e ¥ A v § 1 T i A G s
A T R T WNfEE IEavAl & T T ) Wi 2 T, W, T S @ awe 6 E o gaEn
FHIA R FEA wemEiel v e ww e es o wenln =g w8 fn T A 3 g a5 v
o & it T waer e -uftfeefrd i ufh sl o, S wam A T et = | e
3 diEmE ¥ a2 & A F w=Y § e % 9eE 91 geer 9v o FEE 2 2w g gde = Fameme
o gz fem, SrafE Wi 7 T a9 e 1 gere 5 g9 o G5 wfte avi e w wmee we
AT A AT T HRANE T 7 Tohed =7 FEEATE TS & T % et e | wled e
=1 Togia =i ugf ¢ A FrdiveE nedilos el & e % e A w5 w10 el o s &9 i
=T S TR w1 w5 v TOE O | AR W | T W o e §9 e e geane
areTeR 7 5| T AwE wEl el wueT & w9 F afi e o weh €1 T WHE Sneies A
IR A ST S TS o A R s G A s e m i e a8
e i s = 2 o fer sifi s o |

U &3 o] S e H wrvardt sdfre § au o, 97 2 e gedrd et el o e Sm
T A F F W e S =T R S s w1 gEa o fafvew favm gfemm | grefee fee
T T S e S o 45 ) HeE Y o AT A o w0 S A e 1 gl o - anenf

6 % =Y
SubQuestion No : 46
i
(A) =S T I eHfas A7
(B) T SR &M *I Hew faan
(C) WEIHaaTE & YSFERHT i STEETeRR TR
(D) Uz ¥ faveams feman
9 fau o fasedi § € W@ SO &1 =9 IO
(1) e (A) 3 (D)
(2) %9 (A), (B) 3 (O)
(3) (), (C) R (D)
(4) 9 (A), (B) 3T (D)

Question Type : MCQ
Question ID : 87827033047
Option 1 ID : 878270130037
Option 2 ID : 878270130038
Option 3 ID : 878270130039
Option 4 ID : 878270130040
Status : Answered
Chosen Option : 4
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Comprehension:

Frretfefie meror =1 wfew 2f swe e fan o vt & v e

rrETd SteiTER e i e e e S e ¥ A v § 1 T i A G s
A T R T WNfEE IEavAl & T T ) Wi 2 T, W, T S @ awe 6 E o gaEn
FHIA R FEA wemEiel v e ww e es o wenln =g w8 fn T A 3 g a5 v
o & it T waer e -uftfeefrd i ufh sl o, S wam A T et = | e
3 diEmE ¥ a2 & A F w=Y § e % 9eE 91 geer 9v o FEE 2 2w g gde = Fameme
o gz fem, SrafE Wi 7 T a9 e 1 gere 5 g9 o G5 wfte avi e w wmee we
AT A AT T HRANE T 7 Tohed =7 FEEATE TS & T % et e | wled e
=1 Togia =i ugf ¢ A FrdiveE nedilos el & e % e A w5 w10 el o s &9 i
=T S TR w1 w5 v TOE O | AR W | T W o e §9 e e geane
areTeR 7 5| T AwE wEl el wueT & w9 F afi e o weh €1 T WHE Sneies A
IR A ST S TS o A R s G A s e m i e a8
e i s = 2 o fer sifi s o |

U &3 o] S e H wrvardt sdfre § au o, 97 2 e gedrd et el o e Sm
T A F F W e S =T R S s w1 gEa o fafvew favm gfemm | grefee fee
T T S e S o 45 ) HeE Y o AT A o w0 S A e 1 gl o - anenf

& % = TEn
SubQuestion No : 47
i e 0 A s g e T 2
(1) HrHdaE
(2) YsiET
(3) EEERE
(4) wHER

Question Type : MCQ
Question ID : 87827033045
Option 1 ID : 878270130029
Option 2 ID : 878270130030
Option 3 ID : 878270130031
Option 4 ID : 878270130032
Status : Answered
Chosen Option : 3
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Comprehension:

Frretfefie meror =1 wfew 2f swe e fan o vt & v e

rrETd SteiTER e i e e e S e ¥ A v § 1 T i A G s
A T R T WNfEE IEavAl & T T ) Wi 2 T, W, T S @ awe 6 E o gaEn
FHIA R FEA wemEiel v e ww e es o wenln =g w8 fn T A 3 g a5 v
o & it T waer e -uftfeefrd i ufh sl o, S wam A T et = | e
3 diEmE ¥ a2 & A F w=Y § e % 9eE 91 geer 9v o FEE 2 2w g gde = Fameme
o gz fem, SrafE Wi 7 T a9 e 1 gere 5 g9 o G5 wfte avi e w wmee we
AT A AT T HRANE T 7 Tohed =7 FEEATE TS & T % et e | wled e
=1 Togia =i ugf ¢ A FrdiveE nedilos el & e % e A w5 w10 el o s &9 i
=T S TR w1 w5 v TOE O | AR W | T W o e §9 e e geane
areTeR 7 5| T AwE wEl el wueT & w9 F afi e o weh €1 T WHE Sneies A
IR A ST S TS o A R s G A s e m i e a8
e i s = 2 o fer sifi s o |

U &3 o] S e H wrvardt sdfre § au o, 97 2 e gedrd et el o e Sm
T A F F W e S =T R S s w1 gEa o fafvew favm gfemm | grefee fee
T T S e S o 45 ) HeE Y o AT A o w0 S A e 1 gl o - anenf
8 o = H

SubQuestion No : 48
Q.48

e < e feg T €
YT Yefiare F grmarE weeE 98 o fF gans % el v ader 77 # Fesm a
FUT M - YSfaTe T FIETERET FAEA FREEEE o
TR FYF o ACE |, 79 T8y T femmed H § waH Iuge 3% 6 99 FHiag
(1) M1 5N 9T 3 T9 2
(2) YA 13 HET 1L SHI e &
(3) TR 1T E AN HYT T ©
(4) TR 1T B, AfET HATU T T
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status
Chosen Option :

McaQ
87827033044
878270130025
878270130026
878270130027
878270130028

: Answered

1
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Comprehension:

Frretfefie meror =1 wfew 2f swe e fan o vt & v e

rrETd SteiTER e i e e e S e ¥ A v § 1 T i A G s
A T R T WNfEE IEavAl & T T ) Wi 2 T, W, T S @ awe 6 E o gaEn
FHIA R FEA wemEiel v e ww e es o wenln =g w8 fn T A 3 g a5 v
o & it T waer e -uftfeefrd i ufh sl o, S wam A T et = | e
3 diEmE ¥ a2 & A F w=Y § e % 9eE 91 geer 9v o FEE 2 2w g gde = Fameme
o gz fem, SrafE Wi 7 T a9 e 1 gere 5 g9 o G5 wfte avi e w wmee we
AT A AT T HRANE T 7 Tohed =7 FEEATE TS & T % et e | wled e
=1 Togia =i ugf ¢ A FrdiveE nedilos el & e % e A w5 w10 el o s &9 i
=T S TR w1 w5 v TOE O | AR W | T W o e §9 e e geane
areTeR 7 5| T AwE wEl el wueT & w9 F afi e o weh €1 T WHE Sneies A
IR A ST S TS o A R s G A s e m i e a8
e i s = 2 o fer sifi s o |

U &3 o] S e H wrvardt sdfre § au o, 97 2 e gedrd et el o e Sm
T A F F W e S =T R S s w1 gEa o fafvew favm gfemm | grefee fee
T T S e S o 45 ) HeE Y o AT A o w0 S A e 1 gl o - anenf

6 % =Y
SubQuestion No : 49
P ot sl G ¥ w et R Y g o
(A) UStard o9 st s \ve wE-ufiftafa % ufs gageia €
(B) USTaT T2l 1 IgmEl 30 €1
(C) Ysirarst wrfes 3qeval % Sud @y B Wi 34 €
(D) Isiramet fasira sremd # foa 2 €
= feu T faswedi § 9 W SO 1 999 Fio ;
(1) % (A), (O) ¥R (D)
(2) ¥ (B) 3R (O)
(3) % (B), (O) 3R (D)
(4) % (A), (B) I (C)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033043
Option 1 1D : 878270130021
Option 2 ID : 878270130022
Option 3 ID : 878270130023
Option 4 ID : 878270130024

Status : Answered

Chosen Option : 4
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Comprehension:

Frretfefie meror =1 wfew 2f swe e fan o vt & v e

rrETd SteiTER e i e e e S e ¥ A v § 1 T i A G s
A T R T WNfEE IEavAl & T T ) Wi 2 T, W, T S @ awe 6 E o gaEn
FHIA R FEA wemEiel v e ww e es o wenln =g w8 fn T A 3 g a5 v
o & it T waer e -uftfeefrd i ufh sl o, S wam A T et = | e
3 diEmE ¥ a2 & A F w=Y § e % 9eE 91 geer 9v o FEE 2 2w g gde = Fameme
o gz fem, SrafE Wi 7 T a9 e 1 gere 5 g9 o G5 wfte avi e w wmee we
AT A AT T HRANE T 7 Tohed =7 FEEATE TS & T % et e | wled e
=1 Togia =i ugf ¢ A FrdiveE nedilos el & e % e A w5 w10 el o s &9 i
=T S TR w1 w5 v TOE O | AR W | T W o e §9 e e geane
areTeR 7 5| T AwE wEl el wueT & w9 F afi e o weh €1 T WHE Sneies A
IR A ST S TS o A R s G A s e m i e a8
e i s = 2 o fer sifi s o |

U &3 o] S e H wrvardt sdfre § au o, 97 2 e gedrd et el o e Sm
T A F F W e S =T R S s w1 gEa o fafvew favm gfemm | grefee fee
T T S e S o 45 ) HeE Y o AT A o w0 S A e 1 gl o - anenf

& % = TEn
SubQuestion No : 50
M e sty e e s B 7
(1) HreEg
(2) Uit
(3) TrETE iR getare @t g
(4) HHTER
Options 1. 1
o
4.4

Question Type : MCQ
Question ID : 87827033046
Option 1 ID : 878270130033
Option 2 ID : 878270130034
Option 3 ID : 878270130035
Option 4 ID : 878270130036
Status : Answered
Chosen Option : 3

Section : Economics
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Q.51

s =R o fafore n steet & el # frmfala surl w fasm #ifse qon wd seri * veam
Frf |
(A) wer B 5 frate i o e sne samm 4 e 6 E

(B) T <9 % ST WiosAHt &7 o fatie FeRi w1 s | A w6l €1
(C) Torait off &1 ¥ = T 9 o FRe SR T @Y st F T §
(D) Tt oft 4 H g o1 T AT e R w1 S Tl w Tt €
A T o fomredl o 4 W 9 & 999 Hifa
(1) & (A), (©). (D)
(2) & (B), (C), (D)
(3) FT (A), (B), (O)
@) (&) (B), () (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033098
Option 1 ID : 878270130241
Option 2 ID : 878270130242
Option 3 ID : 878270130243
Option 4 ID : 878270130244
Status : Answered
Chosen Option : 1
Q.52 :
Ife i TS HeF AR =10+5q—q¢? €, a1 Emiq Tses werd €
(1) FAA el
(2) HEdA HeH
(3) Hdd qY1 I9A < FeH € WEd ©
(4) ToET: e e
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033069
Option 1 ID : 878270130125
Option 2 ID : 878270130126
Option 3 ID : 878270130127
Option 4 ID : 878270130128
Status : Answered
Chosen Option : 2
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Q33 eEmm AR G A T B F FevaE ] MREE e o Afa srieremer freatan
[E IR
(1y =W g i e
(@) o g i feafy
(3) T R g S g it Tt
(4) = Wi g EiEE frafe =16 gie g it fefe
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033084
Option 1 ID : 878270130185
Option 2 ID : 878270130186
Option 3 ID : 878270130187
Option 4 ID : 878270130188
Status : Answered
Chosen Option : 4
Q54 frcafafi 3 4 i & o Y wiewa wsa (fefer shffad qtse) # fog e 7 §2
(A) IS 9 X F HH w1 9 U ST R ge o Aiea @9 i wed Wi X &1 U
e B
(B) == % Sfad € T TR 1 SR W 0 5 1% o Ee e
(€) Afz 7% wEEm Tm B g
(D) R2 =ugFa o 7= T 9 Srea "
A T o fomredl o 4 W 9 & 999 Hifa
(1) e (B)
(2) = (B) 4R (C)
(3) = (B), (C) #R (D)
(4) = (Q)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033089
Option 1 ID : 878270130205
Option 2 ID : 878270130206
Option 3 ID : 878270130207
Option 4 ID : 878270130208
Status : Answered
Chosen Option : 3
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.55 : :
@ freAfafas 8 § F9-9 a9 UF gao B9 9§ for efees (Rintes) ufEn F €2
(A) = GHY % Ty Yok e |
(B) TR fEom Fa ¥
(C)  waw feeR A B
(D) He-UEV TG F W ST B ¥
=4 feu e foedi # ¥ W@ S F 999 FI
(1) = (B) 3 (Q)
(2) Fad (B), (C) dR (D)
(3) FA (A), (O) 3T (D)
(4) FFE (A) 2T Q)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033091
Option 1 1D : 878270130213
Option 2 ID : 878270130214
Option 3 ID : 878270130215
Option 4 ID : 878270130216
Status : Answered
Chosen Option : 2
Q.56 =% §(+) T AT A WEE A [a, b] W T Hoawed T, @ [a, b] W 0 fag d E0 S ) = g
W [a, b] # W &g o 0 S () s g, S T d) = (@) <= (o), [a, b] ® =9« & fo ) aw
FA | form T £
(1) HeEEd o1 v
() = g
(3) WA AE WA
(4) =H HE YHT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033071
Option 1 1D : 878270130133
Option 2 ID : 878270130134
Option 3 ID : 878270130135
Option 4 ID : 878270130136
Status : Answered
Chosen Option : 1
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Q.57 o et & st wm wi (0 €1 Hein % wesd & Frreferfaa e faer i ae wE woA
T TEA FTA |
(A) afz waraw Faw # 9fs ot & @ © = 9 Tife T sumate e
(B) =fa I s1éerern H freet fim # af @t & @10 2t 9 anfet o wmfE S
(C) =fE gET =T 2wl w5 T § 9 v S 5 A 90w Tt 2
(D) TS T T LG A el ge 9t F w0 T 2 o ar o s fages m E
A T o fomredl o 4 W 39 & 999 Hifa

(1) = (A), (B), (C)

(2) = (B), (C), (D)

(3) #A (A), (), (D)

@ (A) B) (©) (D)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033099
Option 1 ID : 878270130245
Option 2 ID : 878270130246
Option 3 ID : 878270130247
Option 4 ID : 878270130248

Status : Answered

Chosen Option : 1

Q58 oofiy apferes = Frefefias frememsl =) w6 Swem §, S @ F6EE o St )

(A) HERET faarEm

(B) AI-WIREMA (Fa-Feniaet) faamym

(C) 9 (FAresl) EEmem

(D) 78 FraErEl EEr

) AR

=1 fam e famped! # 4 Wl S 1 =99 Fifww
(M (A) (D), ©), (B). (B)

2 (). © (B) (1), D)

(3) Q. (B). (A) D), (B)

@ (©.(A) B, B) D)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033131
Option 1 ID : 878270130373
Option 2 ID : 878270130374
Option 3 ID : 878270130375
Option 4 ID : 878270130376
Status : Answered
Chosen Option : 3
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(n
()

AT (R) :

Q59 iy & e o ¥ TR (A) w9 felfiga & 9 90 565 HROT (R) F w9 H 2
PR (A) ;T MEOTEAT (Sustainability ) F1 S0 IR (WiaE) % STAR, AfE W AW 5w

W S ST A Fial W o S W W g W W W W §, A A S W
I B A R w0 F gfe 1 A

Terelt apelfemmen # amm wiAal 2 S 9 i 9fE T, TR aE T gaTET = o w5
T H FE E

ITE FUA F s °, A9 fou o feed) i § v wdt me 6 v e

AT (A) 9 (R) T7F & S0 (R), (A) H Ta =R 2
S (A) AR (R) 99 & DA (R), (A) F1 Fel =1 78 &

(3)  (A) = 3, AT (R) 79 &
(4) (A) =T T, afF (R) T9 7
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033137
Option 1 ID : 878270130397
Option 2 ID : 878270130398
Option 3 ID : 878270130399
Option 4 ID : 878270130400
Status : Answered
Chosen Option : 1
Q60 afi srsfomen =t wipm Formmsnmat 3 a4 Frefeifiss sl o formm SR o et et <81 Pt
EalEd
(A) F=im T, T S Fha # g (Fe) e e 9 @R = T s w6
sifeeRT =1 ST R
(B) TEMEIMEEl * srefemare % H Rl T Hew 997 R & (SeerTT H Yemei S "ew 1 39
e
(C) FTiEe] HaEe =] 5 g9 219 (invisible hand) 27 @1=R BRATET 1 8 & fEvam wee @
(D) 8 sty ferge anqet 9 el o sl (Smeger) aTSi S Q=TT i WE 5 §
i fam oy fampedt # 9 Wl SO 1 = Fi
() 9 (B), (O), (D)
@ (A). (B), (C) (D)
(@) F (A), (©. (D)
@) T (A), (B), (O)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033100
Option 1 ID : 878270130249
Option 2 ID : 878270130250
Option 3 ID : 878270130251
Option 4 ID : 878270130252
Status : Answered
Chosen Option : 4
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(n

@

@)

(4)

Options 1. 1
2.2

3.3

4.4

e (1) ;

e (1) :

Q61 454 o R
2022-23 (T 3) % STAAR WG H FT 4= F1 S 2 A T 2011-12 F U Fwa W wm
f 21 0 16% | FH E qen vEfen wimdl W, 99 St 2 0 R 20% 9 wE 8

202223 (f1 %) ¥ AN 9We | ¥4 49 F A G 9 7] 2011-12 F R Fivw w www
0 16% B FH € qen vaAfei il o T w20 W F 20% 8§ F F)

I FUH F e, e feu T el § 4 weifien IweE 90 H =R wiia

YA | F w1 24 5 B

T 1 37 e 1 5T @ B
YA | U §, WA e 1L 3T ©
FUF | 3 E, AR wET TS §

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827033133
878270130381
878270130382
878270130383
878270130384
Answered

1

M

@

&)

4

Options 1. 1
2.2

3.3

4.4

SAEF el
TOMETF T
BICE]
A

Q62 e arer . foreht w1 35 S S g et T @ Freffe 1 ST § A T el sfeein w9 @
Fwif 26l 2, 9l =re 23 27 guae | Ue-un 99 en

Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :

Status :

Chosen Option :

mcaQ
87827033083
878270130181

: 878270130182

878270130183
878270130184
Answered

2
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ass [et-1 & |19 gEl-11 1 7 S
1 Eial
(A) FifheErE HHAT () sems (SgfeA)
(B) fawmgls & = () 3FY (3F AH)
(C) WO ered folg (1) gfieemE
(D) wfeen gu-vfaq wrfierl &€ (1IV) W = 37 gerar 99 2gfd o
r few o foskred § 4 W& I 1 F9H FIoC
1) (A)-D, (By-(ID), (O)-(1), (D)-IV)
2 (A)-IV), (B)-(), (C)-(I), (D)-(IN)
(3) (A1), (B)~(ID), (©)-(I), (D)-(1V)
(4)  (AIV), (B)«D), (C)-(IN), (D)-(IM)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033116
Option 1 1D : 878270130313
Option 2 ID : 878270130314
Option 3 ID : 878270130315
Option 4 ID : 878270130316
Status : Answered
Chosen Option : 2
Q.64
The power of a test refers to :
(1) Typelerror
(2) Typell error
(3) 1-— Type Il error
(4) 1 —Type I error
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033063
Option 1 ID : 878270130101
Option 2 ID : 878270130102
Option 3 ID : 878270130103
Option 4 ID : 878270130104
Status : Answered
Chosen Option : 4
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Q85 oy feafory o 311 Tz 1 3 AR H = TR Ho : b = oy 1 T80, Hy >, e o 3 8
el Ttz weRe fom gen 1 AT Wiamts 1 MO E W W Zo §1 g9 WA 3 poAE # E o
() FITH WEH T g Hepdt fom e §

() @(Z)
@ @(Ze/2)
(@) 1-® (Zo)
(@) 1-® (Zc/2)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033062
Option 1 ID : 878270130097
Option 2 ID : 878270130098
Option 3 ID : 878270130099
Option 4 ID : 878270130100
Status : Answered
Chosen Option : 1
Q.66 .
TE-1 3 19 Fei-1 1 e e
Tl -1
(A) A9 TT (Kenneth Arrow) () FHRUTHF "o H e
(B) T2 HrEl (Robert Solow) (1) AR et # e vd FnTarA
(C) =F¥a FWF (Daniel Kahneman) (1) FEATIFR AR H Horsa TR
(D) SIgen U= (Josha Angrist) (1v) anidies gfe fasia o genm Jrer
i feu T foshedi H § |& IR 1 =9I Hif
(1) (A)m), (B)(IV), (C)-1), (D)-(ID)
@ (A, (B)-@), (O)-(1m), (D)-(IV)
(6) (A, (BHIV), (C-(1D), (D)D)
@) (AHD. (BHIV), (C)-(111), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033115
Option 11D : 878270130309
Option 2 ID : 878270130310
Option 3 ID : 878270130311
Option 4 ID : 878270130312
Status : Answered
Chosen Option : 1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025498378004...

37/82



1/6/24, 12:14 PM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025...

Q67 o wfier A T TR ¥ e e S ¥ o T it R T R ST S
iR T =i F aed & W Hey aai & e ufaes & S su-aE Woges = 9 R
wferTa = o # s gg ® 1 = wdem i d st o E
(A) wifFe e W wfem e F1 wufae F @ e T TE 9 (RSS,) W e w5
(B) = FO-wiaaell W SHI WA HiEw F YU w1 A HeAoqw w0 S RSS, T RSS, H WA
Eas
(C) F wimests =1 qferem
(D) HefHE Ta=a Fifeat % WY Fifaw F 1 W= 0 SN qieEem FF Y T g e
(E) =f= ki F, Sifme F 9 58 8@ H = & w0
A Teu T fesredl o 4 Wé 39 &1 99 wia
(1) {A), (B), (©), (D), (E)
@  (A), (D) (©). (B), (B)
(3)  (©) (A) (B), (D), (B)
@) (C) (B). (A), (D) (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033128
Option 1 1D : 878270130361
Option 2 ID : 878270130362
Option 3 ID : 878270130363
Option 4 ID : 878270130364
Status : Answered
Chosen Option : 2
Q68 diiand % g T & Pt e ) 36w % SEER S T S T S
T F T Saftye Fifaw
(A) =
(B) EL gEnE
(€) THWH T=
(D) 3ffa wea
et fem . et W % Wé IR T w0
(1) (€. (E) (D) (&)
2) (€ (A), (D), (B)
(3 (A B)(©) (D)
@ (D) Q) (A (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033124
Option 1 ID : 878270130345
Option 2 ID : 878270130346
Option 3 ID : 878270130347
Option 4 ID : 878270130348
Status : Answered
Chosen Option : 3
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(A
(B)
©
(D)
(E)

m
@

Q.69 Feraft & o1 S S o Fram fafvrem =2 = vaan # ol foreht v =7 o o = e o St e
RISl w1 T % w W Uiy o S S Sdue o e gen = g | 96l uE wieefea 1w
] H, g e v % e S e g s ea w5, Tretafian seEi # wd e o e,
HAE |

Terexelt vz =6 T S ol e A €

Tafmg =2, a1 5w F0 are ot = 9 w0 e E)
Toett wan =it Myl oftt Wi % 9 & ow = we fen S E
FE Hen % fagell 9g7 view e A 2

A S A faut W o Yer A R uE dEn w

4 Teu 7o faskedl o 4 W& 97 &1 999 ®ifa

{B), (E), (A), (D), (C)
(B). (A), (E), (D), (C)
(B) (B). (A), (©), (D)

@)
@) (B). (&) (E) (©) D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033132
Option 1 ID : 878270130377
Option 2 ID : 878270130378
Option 3 ID : 878270130379
Option 4 ID : 878270130380
Status : Answered
Chosen Option : 4
Q70 freafeafirm o w0 forem o -
(A) A =1 ST Be ufx) 99 b(x), u(x)=V(b(x)) BRI Heftd § 5 V() > 0 2, 8@ V() S
e b(x) F T ST F e )
B) =z = SuEIlT Fer U @ St Tu € o wesiE # 2 s 5 w1
a1 ST wert % o guE 26, Sife Aues SUEiT Herd s 2 |
(€) e ST #1 A SuRgia =1 U G 2 e, o S0 STE ST e
N EE T T WA A (W) Y W w5 w
(D) & blx) 1 AT ITANT e HiFe 0 F T F @ uln) = Vb)), TE V() >0, 1 ST
BT Fer FfE 1 W U HEEETE W §
Fr1 feu o fommedi # 9 W@ 59 T 99 wife
(1) e (B)
(2) T (A), (B) 3 (D)
(3) = (A), (B) 3 (O)
(@) %= (B), (Q) ¥ (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033111
Option 1 ID : 878270130293
Option 2 ID : 878270130294
Option 3 ID : 878270130295
Option 4 ID : 878270130296
Status : Answered
Chosen Option : 2
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M et T T I FO T e e

(A) Torm qur =1 fagia
(B) YSH &1 IR (THHEIA)
(C) Hodl FRUA (Ffe9H) =1 fagia
(D) swEgiern 3
(E) 49 i sTHiffa smgfqar o wy foeprg
A feu mu foskedi # | Wl SO @1 =9E 1
(1) (E), (A), (©), (B), (D)
2 (A), (E), (B), (O). (D)
(3) (E), (B) (A), (D), (O)
(4) (A (B), (), (O, (D)

Options 1. 1

Question Type : MCQ
Question ID : 87827033130
Option 1 ID : 878270130369
Option 2 ID : 878270130370
Option 3 ID : 878270130371
Option 4 ID : 878270130372

Status : Answered

Chosen Option : 2

Q72 oefiy & e get-n 1 e i

TEi-1 -1
T o T YET

(A) Traw = <4 % uf sFewer () anfeEs 'Y Afrs @ o
( SR ) B €

(B) WE F1 W A Fi F Hay H quie: dEER Ee € () S Ue UH 9
(©) W& 1 i =S eh o Had F ol drefed S e (0n  Afs v o 9
(D) a9 = = % ufs scafuer some (WeaTie) (V) SR o uE 9%
e
=1 fau g fawedi § 9 W 5T o 999 Fifa
(1) (A)-(IV), (B)-(II), (C)~(ID), (D)-(T)
(2 (AMIV), (B)-(ID), (O)-(I1), (D)-(I)
(3)  (A)-(D), (B)-(II), (C)-(ID), (D)-(IV)
(4)  (A)-(LL), (B)-(IV), (C)-(1), (D)-(11)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033121
Option 1 ID : 878270130333
Option 2 ID : 878270130334
Option 3 ID : 878270130335
Option 4 ID : 878270130336
Status : Answered
Chosen Option : 1
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Q73
fretfafaa § ¥ FH-8 751 ST F SR € 7
(A) 91 feadg 2= faa
(B) =Nk FTTSVITS (commercial paper)
(C) SRl IO SR T 7T STHT SR W
(D) 9= 94 a1 SR ae
= fau o fosredi #f @ W SO 1 99 HifaC
(1) FIA (A)
(2) e (A) S (B)
(3) A (A), (B) 2R (C)
(4) e (B) 3 (O)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033094
Option 1 1D : 878270130225
Option 2 ID : 878270130226
Option 3 ID : 878270130227
Option 4 ID : 878270130228
Status : Answered
Chosen Option : 2
Q74 iz whercon Torenfafis 35 fefeora = Siven 3 Foetferfia =roll 7, Wet & o e s a1 20 %, Tl 560
T Faitgy wifen |
(A) Wi =T H
(B) e afeER
(C) ¥ T 1 A g
(D) ¥z (Fee) Fafl o afs
= fem oy fomredl © % Wl T T S F9
() (A) ©), (D) B
(2) (A), D) (B), (©Q
(B (&) B) (O (D)
@ {A) D) () B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033123
Option 1 1D : 878270130341
Option 2 ID : 878270130342
Option 3 ID : 878270130343
Option 4 ID : 878270130344
Status : Answered
Chosen Option : 1
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m
@
3

Q75 s et 3 oo T o i  Frerforfia o w0 ferem it qen T s 7 Fafe i

T e =t <9 3 fata qen fae s wit % drmea | e S ger W 1 S aEy
BT

Tarafori & =l e e @ e w1 Qi e gt

Teraforii # snfeml Siiest = @i = 1 fd H w7 T E

Ay forel Tt weemaf & e =0 = @ e 50 faferm ster © a1 58 50 ffesm gfor #6
e ot arete | famifay foar = o £

= Teu T foeredl o 9 W& SO &1 9E wiTa

(A), B), (O), (D)
A (A), (B), (D)
e (A), (C), (D)

(4) A (B), (O) (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033095
Option 1 ID : 878270130229
Option 2 ID : 878270130230
Option 3 ID : 878270130231
Option 4 ID : 878270130232
Status : Answered
Chosen Option : 4
Q.76 . _ . . ko .
WA o7 o 3 & R q % SeHEA A el Cw, r,q)%ﬁé‘lt{w,r,q}=q[:+5], BRG]
v 3 3T G (k) T S (1) FTFEA: TEGH @ a9 G @va © ) kS 1 e werd g 40 S 2
(1) gq=ak+pl
(@) q=[ke+IPfr
(3)  q=min {ol, pk}
@) gq=ARe- 1)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033067
Option 1 ID : 878270130117
Option 2 ID : 878270130118
Option 3 ID : 878270130119
Option 4 ID : 878270130120
Status : Answered
Chosen Option : 1
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Q.77

T 2016 T ST AE. B ST MO WimE e 3 T TRifa SATeR Ues 3 S, TR § fan w6
T T |/ 7

Chosen Option :

(1) (@+2)%
@ GEx2)%
@) (=2)%
(@) 2x2)%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033049
Option 1 ID : 878270130045
Option 2 ID : 878270130046
Option 3 ID : 878270130047
Option 4 ID : 878270130048
Status : Answered
Chosen Option : 1
Q78 e 2023 ¥ foreit 2w o 1982 SN FEFT 100 S 39VER e TaEE (5 9 o) 2347 a1
e o1l 2 T Genadl o Twgel] = -2 (T arse) w1 e
(1) = 1982 | 134.7% ¥ T ¥
(2 = 1982 # 34.7% W T F
(3) 991982 § 234.7% =g T §
(4) 991982 F 134.7% =g T §
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033065
Option 1 ID : 878270130109
Option 2 ID : 878270130110
Option 3 ID : 878270130111
Option 4 ID : 878270130112
Status : Answered
Chosen Option : 4
Q79 o i e SusiTeRT 3 ST W u(x) =10 3, e x STIE F R S E | 0 et s
ot wrifs st w50 71w fafoe 58 5wl g2 & fam 0.5 &0 wifwssal % @iy 25 59 #it
I B TeRdl! © 1 A fefan o wE A Siet & fa p sifmm w5 spen s © o s i = el a
& ) wul i wfyfd 2 s =i & faes gdiEe 2 fon g TR Wi @ s s = ?
(1) 1250
(2) 13.57
(3) 11.59
(1) 14.41
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033070
Option 1 ID : 878270130129
Option 2 ID : 878270130130
Option 3 ID : 878270130131
Option 4 ID : 878270130132
Status : Answered

1
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Q.80 : s 5
fretferfiaa § /91 2w W o1 2 (WETE TS g 2) § e €2
(1) e STHATAA,
(2) o wwEes
(3) wrEIfSTR HEYH
(4) onfelw TRETH
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033058
Option 1 1D : 878270130081
Option 2 ID : 878270130082
Option 3 ID : 878270130083
Option 4 ID : 878270130084
Status : Answered
Chosen Option : 1
Q81w e w2 Aol et Wit A n SRR A s g vineyl vy ufiesl mie  wenieE 5
= wE feferad #
(1)  Elx)=p varlx) =n—z/u
(2) E(x)=np var(y) = ne”
(3) E(x) = o Varlx) = o
) E(R) =p varlx) = nje®
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033064
Option 1 ID : 878270130105
Option 2 ID : 878270130106
Option 3 ID : 878270130107
Option 4 ID : 878270130108
Status : Answered
Chosen Option : 1
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Q.82 & 5
g H = eQ 81 581 Q = Axyb B, f Frafarfa sresi w famm #ifsre
(A) o @R g % |l WHl % fAU Q T IEIdE (homogeneous) %ai 2|
(B) o 3R p F Tl AFi % faw H & 9ufefd® (homothetic) F €1
(C) Q %ad a8 THk THEAE e &, 99 a+B=1
(D) H U GHEdg S T8l 2
(B) QU THEN HeH el €1
=1 feu U faeredl § | W& SO A F9H S
(1) FaE (A) 3R (B)
(2) e (A), (B) 3R (D)
(3) HFE (C) 3 (A)
(4) S (E) 3R (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033102
Option 1 ID : 878270130257
Option 2 ID : 878270130258
Option 3 ID : 878270130259
Option 4 ID : 878270130260
Status : Answered
Chosen Option : 4
Q83 o git ot 1 ey T R o A e o o e 1 FreetEs 6 A 29 A wd €2
(A) TR o e (v face e sieel)
(B) Tacel dEwifEE FEw @ siete
(C) S Her w1 fova 5% 9 =
(D) Torw gz woew | ¥ i
i fau 1o fampedi o @ W 39T %7 =99 FiE0 .
(1) Fad (A), (B), (C)
(2) = (B), (O) (D)
@) (A, @), (©, (D)
() FFE (A), (), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033097
Option 1 ID : 878270130237
Option 2 ID : 878270130238
Option 3 ID : 878270130239
Option 4 ID : 878270130240
Status : Answered
Chosen Option : 2
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m
@
3

e (1) :

Q84 55 3 wor Frg o #
TR (I) :  WE e =i o Tt 1 e 9 # 9EE T
A T gt (HDL) Frefates e o7 anenie &« 50 & =0 st g, e

& et =, foren % sivom o, =R AL W g aEe wie S |

[N FU % A A, A feu g e ¥ 4 walfues suge v o = il

HIA [ A R N1 41 JA &
A | 3w 1L EF 3 §
A | T T, W R 11 A ©

Chosen Option :

(4) HUTLIES E, AFF RETUTE T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033135
Option 1 ID : 878270130389
Option 2 ID : 878270130390
Option 3 ID : 878270130391
Option 4 ID : 878270130392
Status : Answered
Chosen Option : 1
Q85 T S0 R ama Ee Cwy, wa, )=y wi+ywiwa +wy ) 5@ wy G941 w, 51 STRAT % ged 2 o
T y TR F FAE | A T | A HH Clw, wy, ) T T § B FE 5/ e £ 2
(1) & B Clwy, Wa, Y)W, T, w, B HIHEH, S7oae 791 900 (F=gem) Fed 8
(2) ETE B Clwy, W, 1), Wy T wy, B T-THIZH, SU6 561 901 (F=ge8) Fod T
(3) T EEA w, A w, H TG E A4y W o w
(4) TIFTE e U Had a9 wife 0 (homogeneous) ¥FHE (homogeneous) FeTd T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033074
Option 1 ID : 878270130145
Option 2 ID : 878270130146
Option 3 ID : 878270130147
Option 4 ID : 878270130148
Status : Answered

1
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Q.86

(A)

(B)
(©)
(D)
(E)

(1)
(2)
3)
(4)

Options 1. 1
2.2
3.3
4.4

1 3 :
-
40

32
AB 1 50 7% g9t s i‘;

BA @1 3H %8 S99 SO [32 82 20]

AB TfRanfeg 9ei & |
BA aftsfia =& &1
ATB gftsnfug & |

e fou 7o fasedi ® © W& SO &1 999 Fifew

Fad (C) 3T (B)

A (A), (D), (B)
FaA (A)

Faa (A) T (D)

Status

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

: Answered

Chosen Option :

McaQ
87827033103
878270130261
878270130262
878270130263
878270130264

3
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VT fretfeian e § & faei Yo TREeT AR W e (ST 32
(1) TEuE T
(2) e WM wieor
(3) ZLIRTE. W
(4) FdTETE ThaT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033053
Option 1 ID : 878270130061
Option 2 ID : 878270130062
Option 3 ID : 878270130063
Option 4 ID : 878270130064
Status : Answered
Chosen Option : 3
Q88 s i o et 5 T & e Frefetan w8 fe
(A)  awe H g HhE we o wr g
By Faen # emzwmam, (foyy o @) S €, we @ e ermeE & a w0 w2
(C) TATHTAUE.-5 F #w & AN Wi o= § I=od faem 2€m = an
(D) H9 2011 1 SATET F SHR 9l o2 &) SaEen § g (e e = 91
(F) UAURUHE.-5 % HGEE d0es 39 T (fam) (stunted) s 71 wn fos 76 029 )
s for e fesredi 9 WE I @ = Fif
{1) =E (A), D)
(2) % (A), (B), (E)
(3) F (A), (D), (E)
@ ¥ (A), (B), (©)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033106
Option 1 ID : 878270130273
Option 2 ID : 878270130274
Option 3 ID : 878270130275
Option 4 ID : 878270130276
Status : Answered
Chosen Option : 4
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Q.89

forvs @ gawis (S%q UF %) | MiHe ©

(A)

(B)

(©)

(D)

(E)

4= feu 7o famredl § B WE 39T % =99 Hifs

(M
(2)
&)
4)

Options 1. 1

2.2
3.3
4.4

HTRET Hied o geg <X

I gaRT 3709 9o
it afed arel &forT (child wasting)

T okt STl e &1

o= o= W= L= e

& (A), (B) 3N (O)
A (A), (C) #R (D)
% (B), (C) ¥R (E)
et (D) AR (E)

AT |fed arel 3769 foR™ (child stunting)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
87827033088
878270130201
878270130202
878270130203
878270130204
Answered

2
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Q.90 TiiE A & el A1Ud X e R2 R 2 o o faen e W X = wi ey il
T F o B Fe T § | it fF a3y 9 fire o e ¥ T i
HAEEAS G (F92 iz) B, A gl foman = geal € B={(x. y): ppx+pay=M}x,;>0,i=1,2
Tafefas & 4 9 W FEA T E?
(1) TEeTas A=/ TF gl 9Es 7 39 9= ©
(2) oNH=FEF HY=A UF Gfies T T
(3) HTEEEE WA UF W5 F -g0d 9= §
(4)  SHETEE WY UF e UiEE SR 99 w9 B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033072
Option 1 ID : 878270130137
Option 2 ID : 878270130138
Option 3 ID : 878270130139
Option 4 ID : 878270130140
Status : Answered
Chosen Option : 4
Q.91 5
frfeiga 3 amaaniers TRanTs THEs (COP) W foe=m #ifaw :
(@) z = Inx R HAfEHTH FIFCx > 1 F 78
(b) z = Inx %R sAferERay FITTx < 1 F T
(¢) z = Inx 7R AFHTH FTICL < x < 2 % A
(A) (a) 3R (b) F TIHH T § WY () T TWEH T
(B) (a) 3R (b) T HHIYM & T (c) 1 & THIHH &l ¢ |
(C) (a), (b) 3R (c) F T 7L €1
(D) (a) 3R (c) & THIYM & & W & W (b) F THH T
e few T foeredi @ @ Wl S 1 = FIT
(1) =FFa (A)
(2) wad (B)
(3) = (C)
(4) A (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033112
Option 1 ID : 878270130297
Option 2 ID : 878270130298
Option 3 ID : 878270130299
Option 4 ID : 878270130300
Status : Answered
Chosen Option : 1
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m
@

X #in Y & & w5 S o ey A S
X &ty & 9= Gt = #rm gag §)

Q92 3 i x st Y = Twd A S T AR (VAR) HSet 3 fe, X % @ § Y o weeerd w59
T W ¥ WA Y ¥ Ore § X Tv=an dgde = 9w 786 ¥ s e frerd freee
TR ¥7

(3) XY T SETE, FAEA Y, X I 0 T
(4) Y, X %1 =T ®AT T, S X, Y 1 U=N ER0 TE T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033054
Option 1 ID : 878270130065
Option 2 ID : 878270130066
Option 3 ID : 878270130067
Option 4 ID : 878270130068
Status : Answered
Chosen Option : 2
Q.93 G
Az A = [_‘2 _4] o7 feram =Hifew
frerafead fa¥man (characterised) FEUE, SRR A o1 s wfee ® =R Fifsa
(A) TordmarTa FETE ¥ A2 42 -2
(B) TordraTTa WEWE & A2 — 28— 4 o TerSTHEnTa HEt STt S A ¥ Ac=2 T 1
(C) TordmaTTE FiEuE € A2— A +2 A FadaTd e e ofEiT W ¥ A =1 72
(D) ToOMemTe WeT STerE ST WA ¥ A*= —2 T 1
i feu mu fasredi O W I 1 999 FiE
(1) FFE (A), (O) 311 (D)
() %= (B) N (D)
@) ¥ @) @R (Q)
() o (A) SR (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033107
Option 1 ID : 878270130277
Option 2 ID : 878270130278
Option 3 ID : 878270130279
Option 4 ID : 878270130280
Status : Answered
Chosen Option : 3
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Q.94 . Saqolf 1 i e s W AR k e W P S s () 3 w8, e
o1 el grefera & T Fowdtem § afw i ot 7 wdan el s = ent?
A==
(3) k=1, n-k-1
4 kn-k
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033050
Option 1 1D : 878270130049
Option 2 ID : 878270130050
Option 3 ID : 878270130051
Option 4 ID : 878270130052
Status : Answered
Chosen Option : 1
Q.95
Heil-1 o 9191 Feii-11 =1 frer it
-1 Teit-11
(A) 9IRS F EH (I) TSIz % g9 8T UHR
(B) HfaFa =44 (II) e Ty
(C) <refefT = o (IIT) ST ITFMTT For
(D) g I GeEfeR (IV) &Y %o
=1 feu e fasmedi § § WE I H FAA R ;
(1) (A)-IV), (B)-(I), (C)-(II), (D)-(LIT)
(2)  (A)ID, (B)-(I), (O)-(IV), (D)-(IID)
(3) (@), B)-0), (O-1), (D)-1V)
(4) (A)-10), (B)-(IV), (O)-(I), (D)-(IL)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033126
Option 1 ID : 878270130353
Option 2 ID : 878270130354
Option 3 ID : 878270130355
Option 4 ID : 878270130356
Status : Answered
Chosen Option : 3
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Q96 et wiea ¥ fou i s MR wer 5w TR E
0d =19-6P, and Q} =6P,_ ;-5
SFIAR G=IeT Fmd 317 T H Yhfa & o) Tl T 1 =549 Fifad |

(1) P =2, foerEs Jem
(2) P =2, TFFEIIAH
(3) P =3, 3@micd grad
(@) P =3 THEILH
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033075
Option 1 ID : 878270130149
Option 2 ID : 878270130150
Option 3 ID : 878270130151
Option 4 ID : 878270130152
Status : Answered
Chosen Option : 1
QI7 g (s A forar 7k ) i e AT S (CA) WOASEA (SR w0 ) ¥ S v uw
T (FRer) o R ar o
Viagas = —3.36 + 064 S + 015 CA
(198) (0.12)  (0.05)
T (Frew) # fau st Wi 3T 29 ¥ | SR AT 4745.75 & T T i it 2
8, aftt srafere @i 33651.28 & o =7 woraa #1 F1724] 567 ©1 Frefafad § § 51 9 596 51 272
(A) =fE CA =t foom T g o U A F wRed T wer 9wt s wemd A sfed F a0 F gis
BT |
(B) CA ¥ t wfaeyls =1 9 3 71
: _ (4745.75/2)
(€3 R R T S R (3365128 /567 )
_ (33651.28/567)
(D) F wioas =t o0 9% g9 smom F = )
=1 feu M e # | Wl ST F1 T9 if
() T (A), Q)
(2) 9 (A), (B), (D)
(3) FET (A) (B), (Q)
(4) AT (A), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033105
Option 1 ID : 878270130269
Option 2 ID : 878270130270
Option 3 ID : 878270130271
Option 4 ID : 878270130272
Status : Answered
Chosen Option : 4
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Q.98
T R g =S ) e e
(1) aforfeges o 2R =t =178 | U oF ¥ |
(2) afofseg S o anfte S 9 sur o €
(3) aforfoaes S TR S oS | o S R E
(4) T ST AR S S W o S R
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033086
Option 11D : 878270130193
Option 2 ID : 878270130194
Option 3 ID : 878270130195
Option 4 ID : 878270130196
Status : Answered
Chosen Option : 1
Q99 f(x, y), T=3f 2 =1 TSR (homogeneous) FE & 74 £1(2, 3) =4 37 1'(4, 6)=12 T (6, 9) T
AELY
M 117
() 234
(3 115
(4) 243
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033068
Option 1 ID : 878270130121
Option 2 ID : 878270130122
Option 3 ID : 878270130123
Option 4 ID : 878270130124
Status : Answered
Chosen Option : 2
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Q100 rofires srifean Sriverrt oot foreh svsfosrereen  wreaferss o) o Sy wwee & W AW STYH T
T YIRTE R
(1) *AFEF e
(2) =R
(3) et
(4) SEUETE wIEEE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033087
Option 1 ID : 878270130197
Option 2 ID : 878270130198
Option 3 ID : 878270130199
Option 4 ID : 878270130200
Status : Answered
Chosen Option : 3
QA0 et foreivr 1 =t Pt sieneif =0, e & el o i, o e A after F)
(A) TOFEHRELT, T
(B) IR Ff T
(©) 14 o Fa w1 T
(D) SEEHE. F fFa=e
e fem o fampenl © @ wE IO T wR S0
(1) (A (B). (O (D)
(2} (©. () (B) (D)
(3) (B, (C), (A) (D)
@) (A) Q). (B (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033125
Option 1 ID : 878270130349
Option 2 ID : 878270130350
Option 3 ID : 878270130351
Option 4 ID : 878270130352
Status : Answered
Chosen Option : 1
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¥ fom feAfafEr d A s e 27
faeEh 1
ramE EEee favs %9 =
. 4G I e rieca i 21 (0,0)
fave &1 <@ (0,0) (1,2)

m
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i forg =i S wegee R
e U A T 8, wel fEenel 1 ferel 1 wiwer w5 s § iR faeEl 2 b g i
T E

(3) W HgHT (i) # § w39 ger 8 g g
(4) AN HeE E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033076
Option 1 ID : 878270130153
Option 2 ID : 878270130154
Option 3 ID : 878270130155
Option 4 ID : 878270130156
Status : Answered
Chosen Option : 1
Q103 £ siofomamen # anf 2015 % 2020 % < S < R, § 990 f B R [ T § 1080 F @ F & T
e (ZEriea) o oo e 25 81 fEm st s e
(1) 27.8 9iqom
(2) 22,5 wiawe
(3) 3.9 o
(4) 195 gla9m
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033057
Option 1 ID : 878270130077
Option 2 ID : 878270130078
Option 3 ID : 878270130079
Option 4 ID : 878270130080
Status : Answered
Chosen Option : 4
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Q.104
G 2011 T SERIIMET & STTER -G F1 DAY TE T5F Taiis TedEd &2
(1) wenrs
(2 Y
(B) FAleE
(4) afaerTg
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033079
Option 1 ID : 878270130165
Option 2 ID : 878270130166
Option 3 ID : 878270130167
Option 4 ID : 878270130168
Status : Answered
Chosen Option : 3
Q.105 A8 ) W F AN 0 e H, Fe (St ) T wh B | SRR FAeE gergd & e v
W FHE & AR ¥ A W e T g7
() A2 w' > w* B & aiTRt & e (FeaEree) # 9fs @ el werd s e Tl
e |
(2 AEw' >wt T SR w T U T HGEE SR WE S f #T S e T o |
(3) AfEw' > w BT AoGE F s # Ay a
(@) A2 w' = we TE A T EE W] S S €
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033080
Option 1 ID : 878270130169
Option 2 ID : 878270130170
Option 3 ID : 878270130171
Option 4 ID : 878270130172
Status : Answered
Chosen Option : 2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025498378004...

57/82



1/6/24, 12:14 PM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025...

Q.106 TF FEE (Bertand) TRt = famm wifsm ww =1 Fofr v awey awg fifide w5t §1owe st
ISR H A =1y +yy =1~ p & Tal p Hel A g 2, iy T g WO Feaam gl oy, i
> T AT (1) 2T (2) IR WOE | i =1, 2 % foru o fafem S @ e wem Cly;) = %.u,%|

He Wl o T99 $8 W T U HH 6] U WY Save [0, 1] WU Hed 35Ya w5 Enn | Afees sfer
SRt % T W e A S Y gee WA T /i 3l ) o| | 9k 9 wuE ge Pl e g
= el W T W A S ¥ A det | He e S A w4 w2

M P=P=LY=Y =%Y; E T H e WA U #

@ P=P= %;Yl -y - % Y; arfieir 9 wge ¥
@) P>P= %;Yl —0,Y, =Y g M AEA A A TE R
(@) D<P= .‘li;‘ﬁ =YY, =0 sg W AR A A UE T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033073
Option 1 1D : 878270130141
Option 2 ID : 878270130142
Option 3 ID : 878270130143
Option 4 ID : 878270130144
Status : Answered
Chosen Option : 1
QA07 ot 7, g virem (St oftt) ireh oo e i (e i) e ¥, foreen oo o2 %, 71 Fretferfiae
T A G wikAnd 1(0) &7
A) X=X_1+4 .
(B) X, = oaX,_ +Z, T 0<a<l
Q X =Z+Z
(D) -Xt o 8+X'_]+Zt
i Teu o feekrel o 9 W 39T &1 999 ®ifa
(1) e (C)
() ¥ (B)
(3) A (8) 31 (Q)
(4) ¥ (B), () S (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033090
Option 1 ID : 878270130209
Option 2 ID : 878270130210
Option 3 ID : 878270130211
Option 4 ID : 878270130212
Status : Answered
Chosen Option : 3
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Q108 o i o e crekreren BoTRRTerh Saer § ¥ ot WO 7 AT 3 AW ) iR 9 3
T A T o ey AT S o6 U e i 9 o ¢ | fAefatea T g e
e 78 e % fon w2 7

HeAHET H 3eIEA TR AT B

TR T FeAe T (e 2R

() WeAHwE H Hod T = e

(D) ey H qed w1 T=aE 2

= Teu o feeredl o 9 W 39 & 99A A

(1) e (A) #liT (©)
(2) e (B), (C) SR (D)
(3) %A (B) W (C)
@) ¥ (A), (B) (C) 3 (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033092
Option 1 ID : 878270130217
Option 2 ID : 878270130218
Option 3 ID : 878270130219
Option 4 ID : 878270130220
Status : Answered
Chosen Option : 3
Q109 ey arsiorereen =01 Trorem i S R T 3%, W S 2 G 2% si T W W F
it o 7% B, W1 98 aeferen % g = i S d i w s 2
(n
@
()
4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033082
Option 1 ID : 878270130177
Option 2 ID : 878270130178
Option 3 ID : 878270130179
Option 4 ID : 878270130180
Status : Answered
Chosen Option : 2
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Q.10 yre A Frefafen = wrifag dema v faen Fifaw ot = o7 w6 =01 % 979 F oo T8
FHHA § TR |
(A) w1 a=nsdl 52l e
(B) F=Fwl
(C) =5 v #hEE
(D) SHF RS
(E) Toisn =1 sifeen
J feu 7 foamwedl § 9 w30 &1 99 Eife
(1 (E). (A ©C) B) (D)
@ (B ©) (A, B), D)
@ (&) (B (©). (B). (D)
@ M) (C), (E) (D) (B)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033127
Option 1 ID : 878270130357
Option 2 ID : 878270130358
Option 3 ID : 878270130359
Option 4 ID : 878270130360
Status : Answered
Chosen Option : 2
Q111 TS = g e, F & e ww o T o @ e T sesrer W wife | weee
1 feaf | smeey F0k, W0 U Sife SO A | SRR Heae ) gl ¥ AU g % for e
HH 0w E ?
(A) FeRA F=IT BN
(B) BIRT BIAL EAT |
(C)  =rs i =Y Feer g |
(D) =TS i ST T o |
= Teu T foeredl o 9 W& SO & 9E wiTa
(1) % (A)
() Fad (B)
(3) ¥ (A) 37 (B)
@) A (A) 3 ()
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033101
Option 1 ID : 878270130253
Option 2 ID : 878270130254
Option 3 ID : 878270130255
Option 4 ID : 878270130256
Status : Answered
Chosen Option : 4

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025498378004...

60/82



1/6/24, 12:14 PM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025...

Q.112

frefafaa 99 ® faar FifE
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(D) T Ty=E % 9 e w1 giasd uh g gEy ¥

e fou o fomredi § 9 W@ IO F TIA FOC

(1) % (A) 3R (B)

(2) %94 (B) 3 (O)

(3) e (A) ¥R (D)

@) FFE (A), (B) 3 (Q)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033109
Option 1 ID : 878270130285
Option 2 ID : 878270130286
Option 3 ID : 878270130287
Option 4 ID : 878270130288
Status : Answered
Chosen Option : 3
Q.113
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10 20
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0 4
T
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4 2
TpT _
(4) Lo L 23}
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033078
Option 1 ID : 878270130161
Option 2 ID : 878270130162
Option 3 ID : 878270130163
Option 4 ID : 878270130164
Status : Answered
Chosen Option : 3
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(A)  Ifer w9 H WA T8 % qedeE g
(B) AR ATER H YR T9 1 Hedgd 2
(C) uwd H =e g ¥ ez 2nt
(D) A us ¥ = o H figre g
i Tam o fomedi o | Wl SRR w1 = i
(1) %9 (A) 9 (B)
(2) AT (A) 317 (C)
(3) T (A) Sl (D)
(4) e (A), (B), (O) 3T (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033096
Option 1 ID : 878270130233
Option 2 ID : 878270130234
Option 3 ID : 878270130235
Option 4 ID : 878270130236
Status : Answered
Chosen Option : 3
Q115 FEA e L1=1+.|;Wfﬂﬂﬁmﬁfﬁx Sﬁiy?‘:{ T B e ST Hed HHY: w, E- wv%ﬁfl
w, > w, (9 €fifs), /i emra we C(q) 0 &m 2
() Cg=wyq
@ Cg=wq
() g =(w +w,)q
@) C(q)=minfw, w|fq
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033066
Option 11D : 878270130113
Option 2 ID : 878270130114
Option 3 ID : 878270130115
Option 4 ID : 878270130116
Status : Answered
Chosen Option : 3
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(1) ¥ frer g
(2) B, TF R wge & T B, T afer T €
(3) E, v TR 7em ¥, o B, T S1RR Tge €
(1) E, &R E, S feer wegem #
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033081
Option 1 ID : 878270130173
Option 2 ID : 878270130174
Option 3 ID : 878270130175
Option 4 ID : 878270130176
Status : Answered
Chosen Option : 4
QN7 e for s 2w % ol 7 we @ ke &1 e iV w O e o L 6% 4% ¥ 90 e
=7 Tafaw= 20 &7 Rs. 80 & 307 Uk o9 ¥ 5% Rs. 84 75 o 54 1 US| SHESIEY S SuH
T o ok e eieafEs § 8 w5 e 20
(1) S 1 YEE YR e § {4
(2) ST o ETE VR W sTdera | ARt F 3 e
(3) I IS waTE e dm
(4) @ T A A SN W A aar S He |
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033055
Option 1 ID : 878270130069
Option 2 ID : 878270130070
Option 3 ID : 878270130071
Option 4 ID : 878270130072
Status : Answered
Chosen Option : 2
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QM8 o oft v 35 e o e gy gy g el wifees ol A 9 b o A & vy A
wEfy sH wine ¥ w v ad § wive w1 gy s mite 99 27
(A) NM,
(B) NM,
(© NM,
(D) NM;
=1 fau o T F W S99 =1 999 S
(1) FaE (A)
) %= (Q)
() = (C) A (D)
(4) = (B) =W (O)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033093
Option 1 ID : 878270130221
Option 2 ID : 878270130222
Option 3 ID : 878270130223
Option 4 ID : 878270130224
Status : Answered
Chosen Option : 1
Q.119
Heil-1 % |1 Geit-11 31 e i
HEi-1 =i-11
(A) Wz 1 gfemr fagia () foee" wieid
(B) wfAfesek sSFIHT (I) <A #9E &g
(C) arefesswsa whan (ZEe) (L) SAfsire =it asit
(D) T T (IV) 1cd &, o9
5 feu o foeredl # 9 W IO & 999 i
(1) (A)AD, (B)(ID), (C)-(III), (D)-(IV)
(2 (A)IV), (B)-(III), (O)-(ID), (D)-(I)
(3) (A, (B)(11), (C)-(1), (D)-(V)
(4) (A, (B)(ID), (O)-(IV), (D)-(1)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033122
Option 1 ID : 878270130337
Option 2 ID : 878270130338
Option 3 ID : 878270130339
Option 4 ID : 878270130340
Status : Answered
Chosen Option : 2
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M sg
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033052
Option 1 ID : 878270130057
Option 2 ID : 878270130058
Option 3 ID : 878270130059
Option 4 ID : 878270130060
Status : Answered
Chosen Option : 3
Q.121 ;
Feil-1 & |y Gell-11 6 faer #ife
-1 -11
=T fareror (§=7)
(A)  nTFds HITE T = % S I (M t faamm
(B) U HHE THH = F] UF Wad FE-THaa () F famo
=R (TS F Fifedl § fawifae) F e
%F T A
(C) < e e T =1 (3 T wifedi () HIFE JEHH
¥ fauifse) =1 I
(D) (JHMEFE =R —FHh "4 + SHH (Iv) =TE TR faarm
HF foaer
= feu o fawedi § 9@ o SR 1 9 F
88 (A )-(D), (B)-{IVJ (©)-(1I), (D)~(I)
) (AHIV), (B)-(D), (C (1), (D)-~(I0)
3) (A1), (B)-(IV), (C)-(II), (D {HJ
4) (A1), (B)-(1), (C) (In),
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033120
Option 1 ID : 878270130329
Option 2 ID : 878270130330
Option 3 ID : 878270130331
Option 4 ID : 878270130332
Status : Answered
Chosen Option : 1
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Q122 otz ot arefomaren 3 fom 1 faferm = 3 sfwe, = W 3 W # afs O ¥ AR o wE F
siferdm ¥ gfg 9 3, o T = (e e ufd g g =fer) # @#ndm 2
(1 wE-9s
2 W
(3) TR § e e g
(4) TE I (S S ) W R
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033085
Option 1 ID : 878270130189
Option 2 ID : 878270130190
Option 3 ID : 878270130191
Option 4 ID : 878270130192
Status : Answered
Chosen Option : 1
Q12 Match List - I with List - IL
List - I List - 11
(A) Unequal Exchange (I)  A. Hirshman
(B) The development of underdevelopment () G. Myrdal
(C) Backward and forward linkage effect (L) A. Emmanuel
(D) Backwash effect (IV) G. Frank
Choose the correct answer from the options given below :
() (A5, B)-D, ©)-(1), (D)-(IV)
2 (A1), (B)-(D), (O-(IV), (D)-(1D)
(3)  (A)-(Im), (B)-(IV), (C)~(D), (D)-(In)
4) (A1, (B)-IV), (O)-(I), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033119
Option 1 ID : 878270130325
Option 2 ID : 878270130326
Option 3 ID : 878270130327
Option 4 ID : 878270130328
Status : Answered
Chosen Option : 3
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Q124 e it o1 (k) =1 T i Tom T 3 50va A T 2013 7 aTO AT, g T

e wiufa & aree R 97
(1) T T
(2) = v
(3) TR e
(4) RS W
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033048
Option 1 ID : 878270130041
Option 2 ID : 878270130042
Option 3 ID : 878270130043
Option 4 ID : 878270130044
Status : Answered
Chosen Option : 2
Q.125 A o o 3eqe Berd g = [(k, 1) Ff 1 % wHEE werd ¥ fefafed s e fEm #im
d i
(A) ot men o 3 i s [ﬁ M %] Frfz 1 3 T £
. Nl azq azq
(B) kTN 1% i &4 & foris wimia seoe 99 © 'k - 3l |-
(C) rmer % fagha g - %“E “k+ %‘11 ‘l=q
azq qu
(D) =TrTen % fogi 51 - ”a'Ei"k"‘ 52'—1:0
=i fou 7o, fomkedi # ° W SR W 94 S0
(1) e (A) SR (B)
(2) == (), (B) 3 (Q)
(3) = (A), (C) @R (D)
(4)  =Fad (B), (©) ¥R (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033108
Option 1 1D : 878270130281
Option 2 ID : 878270130282
Option 3 ID : 878270130283
Option 4 ID : 878270130284
Status : Answered
Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025498378004...

67/82



1/6/24, 12:14 PM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025...

Q26 5y & o o ¥ w SPTRe (A) w9 felfiga & 9 290 585 HROT (R) F w9 H &

afuremer (A) : Tt o T AT wioast #, afs wfaesl =1 smen @gq =21 € o € o gioay & W
=1 o war fawro w9 gaw A g

T (R) : e Him g (He fefie i)

THIE F4A &+ AGE H, A4 T FEed O 9 @ 3et 991 #ie

(1) = (A) =i (R) 529 S (R), (A) 1 9 =30 &

(2) T (A) S (R) G F FAFA (R), (A) FTHE =0 6

(3) (A) T % #fF (R) 276 €

(4) (A) 3/ %, @feT (R) O €

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033136
Option 1 ID : 878270130393
Option 2 ID : 878270130394
Option 3 ID : 878270130395
Option 4 ID : 878270130396
Status : Answered
Chosen Option : 2
Q127 it qoier, 577 &1 1w & W F w0 W e w9 F wge w2, e ofvnfre e
T
1 n
i v =
(1) n2p 2‘.‘-}51( i r]
L Sy [m}
@ o Xiw-| T
n
l. A
2 ; 4 - [11+ l]
3 n
(3) np 3 v n |
i
1 11 i
s Vimyi
4) B _f=1( i ;)I
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033060
Option 1 ID : 878270130089
Option 2 ID : 878270130090
Option 3 ID : 878270130091
Option 4 ID : 878270130092
Status : Answered
Chosen Option : 4
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1

Q.128 I sl A X, € i T8 S % s WOH E@E a9 # WY, ¥ P = prob (Y,=1]Xi)
3T Z, =B, + P, X, @i e ¥ o Freafatad § 9 #9 o w6 27

m B=i=z
3 PB= —2-1
@ Yol 4est
1
P =
©) Yo pe s
1
@ R=1-Z
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033051
Option 1 ID : 878270130053
Option 2 ID : 878270130054
Option 3 ID : 878270130055
Option 4 ID : 878270130056
Status : Answered
Chosen Option : 4
Q129 | ¥
stasia gfg fosia = wram ©
(1) T8H & gfgnm wfawe adr gof giaEmira
) T % gaam afawe qon gof afarre
(3) WM % ghgmm wfowa AR erqul gfasfm
(4) UM % gEEH yiawe SR gl wfaif
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033061
Option 1 ID : 878270130093
Option 2 ID : 878270130094
Option 3 ID : 878270130095
Option 4 ID : 878270130096
Status : Answered
Chosen Option : 2
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(n

@

@)

(4)

Options 1. 1
2.2

3.3

4.4

Q130 o e o E
A () ;S 21 F Wiewe & 90 W O Sens WS aen SR 599 19 2017-18 9 @R 98

W

HUA (11) : T =99 F WaTa F 70 T off "l Fened W w6 =6 el =99 59 2017-18 ¥ wEn

T

I FUA o s 8, A fau T famed) § § watfires swgem 39 1 97a wife

FUA 1 3 AT 11 541 59 7
T 1 57 e 11 5 e &
AT | O, T T 1L s ©
WU | 270 B, A e v

Question Type : MCQ
Question ID : 87827033134
Option 1 ID : 878270130385
Option 2 ID : 878270130386
Option 3 ID : 878270130387
Option 4 ID : 878270130388
Status : Answered
Chosen Option : 3

(A)

()
©

(D)
(E)

(1)

@

(3

4)

Options 1. 1
2.2

3.3

4.4

Q.131 eI T S o =it § A uie e feg e )

AeFIe Siga T (AC) Fa o 3fiea TREd wa (AVC) 9%, SHI 1 S @ (MC) F9%
=7 T fag st o Fe &

AC % F1 MC a5 5 & 12 €, @ AVC 9% % a1 ¥ §9 T8 el 1 Tehal |

T G5 F T A FE A (1C) T S v @ (1Y) 5 3 S w5 gl st Wt
3l

HArga Fre wTe (AFC) = w1 29l 9T el (ufgedien) &

AC 55 u SR H ¥

= fem My fomredl o @ Wl TOE T S HI99

FAT (A), (O, (D), ()
FA (B), (C), (E)
FAT (A), (E)

FFel (D), (E), (A)

Question Type : MCQ
Question ID : 87827033104
Option 1 ID : 878270130265
Option 2 ID : 878270130266
Option 3 ID : 878270130267
Option 4 ID : 878270130268
Status : Answered
Chosen Option : 3
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Q132 i1 & w1 G-I # e #fe

et -1
Hrga/fafy TTET
(A) e HiEe () ey e 2§
(B) i Hrea (I fe=r (arl) anfaa =)
(©) = FmeE (e fonfoe) ates (1) e feamen & foe gur ot &

(D) «ifid =em &f (Iv) =T9a =7 1 U9 (lags) SiEfaa @ &
= fou o femredi o 9 W S9T 0 994 Fife

() (A)-(ID), (B)-1), (C)-(1H), (D)-(IV)

(2 (AN, (BR-(I), (O)1V), (D)-(IL)

(3) (A, (BRI, (O, (D)-{IV)

(@) (A)-(ID), (B)-(1), (O)IV), (D)-(1ID)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033117
Option 1 ID : 878270130317
Option 2 ID : 878270130318
Option 3 ID : 878270130319
Option 4 ID : 878270130320
Status : Answered
Chosen Option : 4
Q.133 Iny,= o + BX,+Y; ¥ Atea ®, 5t In yrpfoe ergmoes (o) 8, X % S # Y i e (w0
n B
2 BX
B
(G y
@ ﬁﬁ—
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033056
Option 1 ID : 878270130073
Option 2 ID : 878270130074
Option 3 ID : 878270130075
Option 4 ID : 878270130076
Status : Answered
Chosen Option : 4

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025498378004...

71/82



1/6/24, 12:14 PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66399/17025...

Q.134
21 yofa: g aEgali & el |, Frefafaa § | o e w8 e
(1) wfaeemed (HeEizg9) J9TE 9= 2l © |
(2) e agE Hreft W dd T
(3) SHMEE % L &R F e ¢
(4) = gl i A eh fer e | 2 ¥
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033077
Option 1 ID : 878270130157
Option 2 ID : 878270130158
Option 3 ID : 878270130159
Option 4 ID : 878270130160
Status : Answered
Chosen Option : 2
Q135 freaferfam ol w0 farem iore
I AT o STiE gr = e 2 A T € S x e R2, STl X SUHIE 1 FHe el
it o megell @ wged 3
(A) TsfE (fEE) TSRS (monotonicity) TEE TSR ST § e IHE fauia wE @l
-
(B) ﬁmﬂﬂm%ﬁwﬁﬁﬂ%J}yexéﬁmy = 1‘3ﬁ1y¢xﬁly.‘f X
(C) X W wlle ey () Waed e § AfE wil ag @R x, e X F L yea Ay Ay
—
(D) wsite =il o6 wiE w9 § o9 T, Ui AR gael Ukl S SAFE S
ﬂ%ﬁqmmﬁﬁﬁwaﬂwwwaﬁm :
(1) e (B) S (D)
(2) = (A), (B) 3T (D)
(3) S (A), (©) FR (D)
(4) e (A) 3T (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033110
Option 1 ID : 878270130289
Option 2 ID : 878270130290
Option 3 ID : 878270130291
Option 4 ID : 878270130292
Status : Answered
Chosen Option : 4
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Q.136

M
2
®)
(4)
Options 1. 1
2.2
3.3
4.4

Fet-1 3 W1 -1 1 e i

-1 -1

fagia witarees srefvmredt
(A) IS S T s IReReT () @ gnfe R T aed
(B) UM =i oA = ufemew (1) faeed wreha
(C) daEdfoe a9 =% fagia (1) ey wifefremt
(D) ifa freenfaa whawr (Iv) Tw. frede @R $ Tk

= feu 7u forredi # | W& SR F 99 HIWT :

(A)-(I), (B)-(1D), (O)-(D), (D)-(IV)
(A)-(LIL), (B)-(ID), (C)-(1V), (D)-(T)
(A)-(1D), (B)-(ID), (O)-(V), (D)-(I)
(A1), (B)-(1D), (©)-@1), (D)-(V)

McQ
87827033118
878270130321
878270130322
878270130323

Option 4 ID : 878270130324

Status : Answered

Chosen Option : 4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Q.137

A)
(B)
Q)
(D)
(E)

—_—

(1)
(2
)
(4)
Options 1. 1
2.2
3.3
4.4

frfafed 1 395 T % 99 % FHER, T8 TH 9 YF =6, TE F9 1 T

= feu Ta foemedl B 9 W@ O 1 999 Hif

TR |fFfd
g HiAfT
FeTE |
T wiafa

Se Tt

(D), (B), (©), (A), (E)
©), (D), (B), (A), (B)
(©), (B), (D), (A), (E)
(B), (©), (D), (E), (A)

McQ
87827033129
878270130365
878270130366
878270130367

Option 4 ID : 878270130368

Status : Answered

Chosen Option : 4

Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
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Chosen Option :

Q.138 Bt e & -
(1) Scareshal ®1 gfs < a9 SAerE #1 g U H s
(2) SuE # gfg & adl a9d # gfs & W A
(3) e # gfg oL a9 e H ghe 71 H e
(4) U & w0 T T a9 SO GReR S (Steady State) TR T AT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033059
Option 1 ID : 878270130085
Option 2 ID : 878270130086
Option 3 ID : 878270130087
Option 4 ID : 878270130088
Status : Answered
Chosen Option : 2
Q.139 -1 & T -1 = e #ife
-1 HE-11
(A) w9 fagia () Hra e, Tifea s & WU ST TS (Property
right, victim's pay and polluter pay principle)
(B) ey WiteR () @fen watervia fafass, dwem saem
(C) Wit dum (1) =R fam
(D) FAINUNA (Tradable) (1v) Sfraes ammar
T WiHE
=1 feu 7 fopedf # | Wl =9 w1 w9 i
(1) (A)(I), (B)-(IV), (C)-{IT), (D)-0)
(2) (AN, (BI-(1IV], (C)-{IT), (D)-(1T)
(3) (A1), (B)-(1), (C)-(1m), (D)-(1V)
(4) (A1), (B)-(IV), (O)-(D), (D)-(ID)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033114
Option 1 ID : 878270130305
Option 2 ID : 878270130306
Option 3 ID : 878270130307
Option 4 ID : 878270130308
Status : Answered

1
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Q140 TE-1F =1 gE-1 e i
it g1
(A) TEE A () s 95 5 affor
(B) =& HTH (I O &Te9 Y gemed °
(C) wif=aa geEa (1) EERe! & HE
(D) f wET (IV) T ST 3 S TEed A fFem m s
s fem o foepedt # F @@ SO 1 = Fif
(1) (A)HD), (BR(IV]), (C}(II), (D)-(IT)
(2 (A, (By-(D), (C-(I), (D)-{LV)
(3)  (A)IV), (B)-(I), (C)-(ID), (D)-(IT)
(4) (A1), (B)-(IV), (O)-(I), (D)}-(IN)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033113
Option 1 1D : 878270130301
Option 2 ID : 878270130302
Option 3 ID : 878270130303
Option 4 ID : 878270130304
Status : Answered
Chosen Option : 2
Comprehension:
HA St T &1 dfl e 1 Soe FT 8| S | S UgH oh A U TR sl § |
FIH 1 T q, & 2R A 2 W g, §1 W A A e P =1 ) e Tt @
fgvE W A Eie
wfigys 1. "W Fifae fE S0t 1w A wEA Cy(gqq) =g, # i Fu 2 w1 are wea
C, (g q)=1(q,+0.75 q,)? &1 Hiera |, Fwl 2 3 gry 9 1 % S8 T A T G S Sl 1% 50
U 2 % FeUET 9 WS §, sl Al 1 Teie & e el 2 ) S | S 2 |
AETY 2 : HA A0 fF THreE A SF a9 % wd € adiE S Sl # aiga vaE e
FE wEA F 1A WA G C (g o) = (g +0.75 go)? i Cody, o) =(ga +0.75 g4 |
SubQuestion No : 141
Q141 o 9 T ¢ ToF g™ 2 % Hger i wEuE © | HEed O S w9 e 2
(1) =78, Fafwt o1 Haer Qv =T wfie FE gy £
(@) = Sl F R F0, A =, =0 H A g T ¢
(3) 7% U T 0 SEETAl 9 Y fa S A A 8 S S 3w W @ o 4 my = 0.071
Gl
(4)  =fe TR O ) SETE o T S A A e S S e g e 4w, =0.109
BATI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033143
Option 1 ID : 878270130417
Option 2 ID : 878270130418
Option 3 ID : 878270130419
Option 4 ID : 878270130420
Status : Answered
Chosen Option : 1
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Comprehension:

oM wiifer o &1 sl wher 1 S T 1 SeEA G S0 Vg S ] U TR el € |
FA 1 I q, B A FTA 2 F g, §) AW A = A g e, =1 ¥ vE frefafas @
HgTEl W T SR
afigyg 1. wE @ifen f@ Soft 1w ame wme C(gy) =g, 8 AT S 2 w1 A werd
C, (g q)=(q,+0.75 q,)? &1 Hiera |, 9l 2 3 gry F9 1 % FoEF W A T U iR Sl 1% 50
U 2 % FeUe W wsE WS §, sl S 1 Tee & e el 2 ) e | S g
AETE 2 : HA A fF THEeE A SE e 9 % w € adE 3E Sl # aiEa vaE e
FEA T F | @A TN Cy(qr, Ga) = {41 +0.75 4)? A Caldy, go) =(qp +0.75 q4)% 1

SubQuestion No : 142

Q.142
fgea 1 H HA 2 1 Srefehrfers oY (w,) €7
1) m,=0.125
(2) m,=0.120
(@) my=-05
4 wy=0
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033141
Option 1 ID : 878270130409
Option 2 ID : 878270130410
Option 3 ID : 878270130411
Option 4 ID : 878270130412
Status : Answered
Chosen Option : 2
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Comprehension:

HA wifer for &1 dfal e 1 Soe FT 8| S | S UgH oh S U TR sl § |
FA 1 I q, B A FTA 2 F g, §) AW A = A g e, =1 ¥ vE frefafas @
HgTEl W T SR
afigyg 1. wE @ifen f@ Soft 1w ame wme C(gy) =g, 8 AT S 2 w1 A werd
C, (g q)=(q,+0.75 q,)? &1 Hiera |, 9l 2 3 gry F9 1 % FoEF W A T U iR Sl 1% 50
U 2 % FeUe W wsE WS §, sl S 1 Tee & e el 2 ) e | S g
AETE 2 : HA A fF THEeE A SE e 9 % w € adE 3E Sl # aiEa vaE e
FEA T F | @A TN Cy(qr, Ga) = {41 +0.75 4)? A Caldy, go) =(qp +0.75 q4)% 1

SubQuestion No : 143

Q.143 X g .
ufgea 1 ® sfeqes § O 2 1 HeH A1 (wy) F1 87
1) m,=0.025
(2) mp=0.125
(3) m,=-0.125
@) m,=0.75
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033139
Option 1 1D : 878270130401
Option 2 ID : 878270130402
Option 3 ID : 878270130403
Option 4 ID : 878270130404

Status : Answered

Chosen Option : 3
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Comprehension:

oM wiifer o &1 sl wher 1 S T 1 SeEA G S0 Vg S ] U TR el € |
FA 1 I q, B A FTA 2 F g, §) AW A = A g e, =1 ¥ vE frefafas @
HgTEl W T SR
afigyg 1. wE @ifen f@ Soft 1w ame wme C(gy) =g, 8 AT S 2 w1 A werd
C, (g q)=(q,+0.75 q,)? &1 Hiera |, 9l 2 3 gry F9 1 % FoEF W A T U iR Sl 1% 50
U 2 % FeUe W wsE WS §, sl S 1 Tee & e el 2 ) e | S g
AETE 2 : HA A fF THEeE A SE e 9 % w € adE 3E Sl # aiEa vaE e
FEA T F | @A TN Cy(qr, Ga) = {41 +0.75 4)? A Caldy, go) =(qp +0.75 q4)% 1

SubQuestion No : 144

Q.144 . "
UG 2 H S HUfTEl % TSR Hdor e o g ?
1 ™ —*1— ™ ——1—
(1) ™1 =% T2 7 g
5 2 )
TF = _,* TI' —
Ef WMEgemT o
3 m = . My = :
G M=ty
4 m=m=0
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MmcaQ

: 87827033142

878270130413

: 878270130414

878270130415
878270130416
Answered

1
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Comprehension:

oM wiifer o &1 sl wher 1 S T 1 SeEA G S0 Vg S ] U TR el € |
FA 1 I q, B A FTA 2 F g, §) AW A = A g e, =1 ¥ vE frefafas @
HgTEl W T SR
afigyg 1. wE @ifen f@ Soft 1w ame wme C(gy) =g, 8 AT S 2 w1 A werd
C, (g q)=(q,+0.75 q,)? &1 Hiera |, 9l 2 3 gry F9 1 % FoEF W A T U iR Sl 1% 50
U 2 % FeUe W wsE WS §, sl S 1 Tee & e el 2 ) e | S g
AETE 2 : HA A fF THEeE A SE e 9 % w € adE 3E Sl # aiEa vaE e
FEA T F | @A TN Cy(qr, Ga) = {41 +0.75 4)? A Caldy, go) =(qp +0.75 q4)% 1

SubQuestion No : 145

Q.145 5
fgea 1 H HAr 1 1 Srefehrfers oy (w,) FE?
1) w,;=0.025
2 w=0
(@) m=025
4) m=0125
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033140
Option 1 ID : 878270130405
Option 2 ID : 878270130406
Option 3 ID : 878270130407
Option 4 ID : 878270130408

Status : Answered

Chosen Option : 1
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Comprehension:

fartish 31 73, 2023 = U7 UH o7, UW A T T A% #1 U9 faeih F e 9v 202122 % o gefem
Hial WS 2 9w T S (H.4,) 2,347,012 S T a9 ad 2020-21 & g 9 1,98,29,927
FAE FE A7) wd 2020-21 G 2021-22 % o 2011-12 W e wiwdl W 9 =t W FE9n 1,36,87,118 wiE
T a9 Rs, 1,49,25840 T ¥4 o1 | FAio F9a T 00E W HEE o 99 2021-22 (H.21) § 20,32,128
HE T a9 2021-22 H ff w6 O €, of uw 6 %, o U 6@ OF FEes 1,43,44,336 ST T, 26,25,361
T A ST 67,86,301 TAIE TIT 911 T 202122 H yefer #rea W w=rw F a5 o ), sgae
7 Tl % T A 1,63,438 S T4, 3,79,112 FS T a9 () 2,08,247 FUL T (FONCTE) 41

SubQuestion No : 146

Q.146
ad ¥ 3 2021-22 H e — St € o s o ¢
(1) 31.2%
(2) 90%
(3) 40.1%
(4) 42.4%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033148
Option 1 ID : 878270130433
Option 2 ID : 878270130434
Option 3 ID : 878270130435
Option 4 ID : 878270130436
Status : Answered
Chosen Option : 3
Comprehension:
fartisn 31 73, 2023 = A UH o7, UH A T T A% #1 U9 faeih % aEn 99 200122 % o gefem
HWal WS = 9w HEE AT (HA) 2,34,71,012 F0S T 991 99 2020-21 % A 9% 1,98,29,927
FAE FTE A7) wd 2020-21 T 2021-22 % o 2001-12 W e wiwdl W 9 =t W #E9s 1,36,87,118 wHE
TOY a9 Rs, 1,49,25840 T ¥4 o1 | FAio F9al T 5006 W A w1 a9 2021-22 (H.21) § 20,32,128
g T W od 2021-22 F 6 we 6 €, S wE 4G { o o °@ OF e 1,43,44,336 FUF T, 26,25,361
T A ST 67,86,301 FAIE TI 91| T 202122 H yefen #Ea W = § a5 o ), sgee
7 feiniai % W FO 1,63,438 S T, 3,79,112 TS TG T41 () 2,08,247 FIE ¥4 (M) d|
SubQuestion No : 147
Q4T e s o o R = 2021-22 T frata =1 TE 50,49,645 FE T 97 1 &4 2021-22 F yefew
T T S ol
(1) Rs.56,69,024 5 ¥4
(2) Rs. 6,19,378 FI5 94
(3) Rs.1,17,18,975 ®U8 ¥4
(4) Rs.94,11,752 %8 71
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033149
Option 1 ID : 878270130437
Option 2 ID : 878270130438
Option 3 ID : 878270130439
Option 4 ID : 878270130440
Status : Answered
Chosen Option : 1
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Comprehension:
fartish 31 73, 2023 = U7 UH o7, UW A T T A% #1 U9 faeih F e 9v 202122 % o gefem
HWal WS = 9w HEE AT (H.A) 2,34,71,012 FS T @91 99 2020-21 F A 9% 1,98,29,927
FAE FE A7) wd 2020-21 G 2021-22 % o 2011-12 W e wiwdl W 9 =t W FE9n 1,36,87,118 wiE
T a9 Rs, 1,49,25840 T ¥4 o1 | FAio F9a T 00E W HEE o 99 2021-22 (H.21) § 20,32,128
HE T a9 2021-22 H ff w6 O €, of uw 6 %, o U 6@ OF FEes 1,43,44,336 ST T, 26,25,361
T A ST 67,86,301 TAIE TIT 911 T 202122 H yefer #rea W w=rw F a5 o ), sgae
7 Tl % T A 1,63,438 S T4, 3,79,112 FS T a9 () 2,08,247 FUL T (FONCTE) 41
SubQuestion No : 148
Q.148 : 2 .
R = fow 2020-21 ¥ =] W6 =R SRS St G (SF w=ieR FIvE W) ST o
(1) 1.75%
(2) 3.53%
(3) 4.06%
(4) 2.64%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033146
Option 1 ID : 878270130425
Option 2 ID : 878270130426
Option 3 ID : 878270130427
Option 4 ID : 878270130428
Status : Answered
Chosen Option : 4
Comprehension:
fartiss 31 73, 2023 = U7 UH o7, UH A TR T A% #1 U9 fGeih ¥ aEn 99 200122 % o vefem
HmEl WS = 9w HEE AT (H.A) 2,34,71,012 F0S T 991 59 2020-21 % fAg 9% 1,98,29,927
FAE w7 wd 2020-21 G0 2021-22 % o 2011-12 W e wiedl 9 9 =t W FE9s 1,36,87,118 wiE
T a1 Rs, 1,49,25840 T §99 o1 | Waio #1901 T 5096 W A 99 2021-22 (H.21.) § 20,32,128
A T w9 2021-22 H f U6 O €, of Uw 6 %, o O 6 OF FEes 1,43,44,336 S T, 26,25,361
T A ST 67,86,301 TAIE TIT 911 T 202122 H yefern #rea W w=w F a5 o ), sgae
7 T % T A 1,63,438 S T4, 3,79,112 FS T a9 () 208,247 FIZ T (FONTE) G
SubQuestion No : 149
Q.149 - |
A 2021-22 H A FHd T Hhe g a6H (St S ) o
(I) 2,55,03,140 % ey g w0
(2) 2,14,38,884 FHUE ¥
(3) 234,71,012 %S ¥93
(4) 1,4937,569 FUE T4
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033147
Option 1 ID : 878270130429
Option 2 ID : 878270130430
Option 3 ID : 878270130431
Option 4 ID : 878270130432
Status : Answered
Chosen Option : 2
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Comprehension:

fartish 31 73, 2023 = U7 UH o7, UW A T T A% #1 U9 faeih F e 9v 202122 % o gefem
Hial WS 2 9w T S (H.4,) 2,347,012 S T a9 ad 2020-21 & g 9 1,98,29,927
FAE FE A7) wd 2020-21 G 2021-22 % o 2011-12 W e wiwdl W 9 =t W FE9n 1,36,87,118 wiE
T a9 Rs, 1,49,25840 T ¥4 o1 | FAio F9a T 00E W HEE o 99 2021-22 (H.21) § 20,32,128
2 v o =] 202122 F fF uw 6 €, St oo | E o o | OF #Ee 1,43,44,336 g T, 26,25,361
T A ST 67,86,301 TAIE TIT 911 T 202122 H yefer #rea W w=rw F a5 o ), sgae
7 fedniai % HF FO 1,63,438 S T, 3,79,112 TS TG q41 () 2,08,247 FIZ ¥9G (FONEER) 4|

SubQuestion No : 150

Q.150 .
St S1 U1 STaFHiaE o STHR 9T A H HETeRia o 31 o ?
(1) 4.5%
(2) 6.6%
(3) 9.3%
(4) 10.2%
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033145
Option 1 ID : 878270130421
Option 2 ID : 878270130422
Option 3 ID : 878270130423
Option 4 ID : 878270130424

Status : Answered

Chosen Option : 1
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